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Resd the instyttctions given belott before opening this questiott hooklet :

I po NC|T OPEht ?'HrS SUESTION BOO6{I,ET UTVTTL yO{/ ARE TOLD!pp} ]9
i. Use only BLUE/BLACK Bail Point Pen.

2" Check the QUI]STION BOOKLET thoroughls'. 1tr case of an1' dcfcct -, misprint. missing qr,rcstion/'s.

8et 1hc question hoolilr't cltat.red. \io conrplaint shall lrc cnicrtliucd alicr thc crrnr in i]ri: t'.li]arti.

3. This'Lest booklet contains 1C0 items (ciuestions). Each itcm is il'intcci both in Hincli and linglish.
Each item compt'is,--s Ibur lespor-rses (answers). You u'iil sele'ct thc lesponse rvhici, you wat-)t to rrarl<
on the Ansn'er Sheet. In casr: 1,ou feel that therc is mole than one coffect respcnse. mar'li ihc l'criponsc
which vou consider ihe best. in an-v case, choose ONLY ONE response for each item.

1. Ali Qr:estions tire COMI'ULSORY. Iiach Question carries onc marh. For each 'r/r'on{t Ans\,,'cL, onr
fcurth (0"25) mark w.ili bc clcducted.

5. Bej-ort -vor-t iiiark the ,\nslver'. read the instructions on the baclt page of the O\4lt (,'\nsr,r'cr) S1-icci as

rvell as on the Qr-restion Booiilet and t-ii1 the particulars in the OMR (.,\nsu,er) Shcct carcliili-r' ancl
correctl]. Incomplete & Incorrect pal'ticlilars nla.v resuit in vonr ON4R (Ansrver') -:,hcct riot bcing
er,aiuaiccl bv thc CompLlter.

6. Ansu'eL Shects rviil be colleciecl only alier the cornpietion of the llxar-nination and no candiciatc sirall
be aiiov"ecl to leave the Errmination I-Iall earliel. Aficl conrpleting the test, handover the O\4I{
(Ansrver') Sheet to the Invigil'rtor.

i. For Rough Wolk. 2 Blanl< Sheets have bc-en provided in the Question Booklet itseli. No Extra Shcct
rvill be plovided under anv circumstances.

8. Write the QUESTION BOOI(LET SERIES in the space provided on the OMR (Ansrver) Sircet, by
darl<elting tile corlespondi ng,:ircles.

9. Candidate should rvlite his/heL Name, Roll Nr-rmber, Question Booklet Series and othel specilic
information in the space provided on the Question lJooklet as rvell as on the CMR (Ansr,ver) Sircct.

INOTE : The Questiort Booklet is bilingunl. Irt cose of anji clifference/amhigui4t ltetween English &
I EJ;','l;,,-,.,-;^,, 1!,- t7,-^{:^t. ",^,.-:^,^ -1.-tt L., -^,^-:.r-,.-t -^ t7,-..t/-^--^^aITiruli verstort, tite Engiish version sltall be considered us Jinol/correct.

#t : erg{Bfi qr ftd sqrf,t {tr Fpq gfu+r A qfuq yv q( w tr

''"..:
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Directions.for the follorving 5 (five) items no. 1 to 5 :

The flollowing 5 items are based on the follou'ing passage in English to test
English Language and therefoie these items do not have Hindi version.
Fr{frrfun s (qfq) qeqieTi (rio r fr sl h ftrg frtir ,

ffifuf, s qalTqT oihfr h ftq,hfu-f, qffiE q'{ silErfrd d efu eitft qnr h qtqq h qfteToT h Ri{ di em,
{q sqEiafr 6T RC qrd € RqT q; w tl

Obsen'e the diiernrna of the fungus : it is a plant, but it possesses no chlorophyll. While all
other plants put the sun's energy to work for them. cornbining the nutrients of ground and
air into the bod,v structure, the chlorophyll's fungus must look elsewhere for an energy
suppiy. it finds it in those other plants which, having received their energy free f1om sun.
relinquishlt aI some-poi11tlnl6-eir cycle either to animals or to fungi.

in this search for e nergy the fungus has become the earth's major source of rot anci
deca,rz. Wherever you see mold forrning on a piece of bread, or,, a pile of leaves turning to
compost, or a blon'n-dou,'n tree becoming pulp on the ground, )'olr qgjlglglulg g frggrs
eating. Withor-lt fungus action the earth rvould be pilecl high rvitfiGdead plant life of past
ientilries. In fact, cerliiin piants rvhich contains resins that are toxic to ilngi rvill last
indefinitell'; specimens afe redrvood. for instance, can still be found festine on the forest
floor centuries after har ing being blor,vn dotvn.

The rvord, best describe the fungus as depicted in the passage, is :

(A) uirevol'ed (E) sporadic (c) parasittc,/' (D) Toxic

The passage stares all the follorving about fungi, except :

(A) They are vastly different from other plants
(B) They are poisonous to resin-producing plants /(C) They can't produce their source of energy
(D) They can't live cornpleteiy apart from other piants

The

(A)

The
/A\

(B)

(c)
(D)

5. The fungus generate

tr (A) Sun

7*3tA

enelgy from : /(E) Other plants /. (C) Redwood

I

the comprehension of

(D) Decav itself,

{t.

li'e o'you are r,vatcling a fungus eating,' is best described as :.. /.-contradrctory/(E) Frroneous (c) Ironical (D) Figureirive

author is inainll,' coircerned r,vith : ./"
Describing the actions of fungi - \r/
Warning people of the dangers of fungi
Writing an essay oir fungi
Explainin_e the long life of some redu,oods

P. T. O.



Directions for the following 5 (Five) itenis no. 6 to tr' :Belor'r' in each itetn' 
"tivo 

staiements I and li are given. These statements 
'ra1. 

be either
independent causes or lna)" be elfects orino.p*ni.,-,, 

"u*. or a comrron .uur., c)ne of
these
d..i.1JlT;i'l;Ti il:'rffffiff"','..:lf;.:11* ".i,,"."i i.ua both the s,*ll.nu una
two statements. Manl{ anstver , 

,rce correctll, depicts the relationship bet*,een
(A) if staternenr I is rhe cause .nd statement iI is its e ffect.(B) if staternent II is the cause and sratement I is its e ffbct.(c) if both staternents I anci Ii are i'dependent causes.(D) if both -statemenir irr,r II arc ,rr.rr, orincrependent causes.ffituH s (Eiq) or"i** i*f " i * ,*t h frq Fffer :fit re{ qqrrqi t, * eqr. I ,ifr{-lr,d q+ir t c.Tq qT .r {snr mnor e} 11sfr d qr 1qr+ 6lrrq qTTfr qlqTq 6Rr'' 6T qo'q d ryt aiqo *#; .t5+-.o * *'-"r.* eI noar tr ffi q,*' a+HW t* #J il fr'+*q-sr ;.#; fi-q Tiqer 6T en-e*Rrld

(A) qR 6qr i o,ror t :fo mrrq Ii iff.,T q,rTq tt(B) qR 
Tw{ Ir orr.or i. ,:ir errq I i{r-frT ssTrr tt(c) qR Tt ** r,fi,i rr t+n_d fiTilT ii(D) qR qrr"i oqr.l ;ii it R__dr ftTFil u qETq dt

,; 
s:fttett?eiltt';},.?;i":lJ:13,'J.'l' t".i", o..icleo ro siop se'ciing;*reir children to schoort./" Staiement If .. Trvo accicle .:__ . Lz V

6w r,'=e5*#ru$ *ffi#'#$ffi:tr 
J.e',eac1 

i.
q;eLv tr ' ff-T H#-.-Rmfr arnm n* ** *"'* ss-n ii fr gu qd fr* ilg ET rf

'r 
sktlemenl tr : A vletro cit)' observed the rorve.st t'rpe.rertur e 2f the iast clecade\,/
stcten'letrll'"iH.I-iHffi 

'?:'1":T:f :X*i*o'^'ffi;,.:.,-:,'o*,,
F'pt' r qn #!H $'H#Tff ,*n *t * *- * ;ffiffing 

panic

6w rr " *'"i fr efq-+Tr qsT+ GlftftEn 
"";'#il d ri iffi 

"+ -ffi t veqT-6-d oi €i8. Stalementl".in last five J,ears the job ,na.ket has 
.

youth. rvu \7'at rct nas tmproved for professionalll. qualified
Slcfctttewry.' Mnn)' rcrrtjrs ar.c a,/
6-r€ r; *"u f."# ;;#"*Tffi !;$i ###?^"ffitruff# 

-
6Eq rr.' red vir goi .fi-fr u*fi-* b wr * t"n l*+ fr qtq q€t $r " V. 1e' t:.*"*'n'u',"#i: 

flnir":,:':;;:J:il,1.. o,'".".orvdeci rvith vehicr., .uu,inf *:H
statemew 97 

" 
ManY auto*robil. ."t";;;;., 

"r. 
pranning to raunch iorv price vehicres.703/A
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6Pdn I.' q.{flf,q qr.q h *nq q--sfr qefr t eTRrm. *s-qts qrfr fr qffi d fu-fi. 6TroT qrc-( h cqrqrcr

,1=iiii ffi wu €i qrnr tt
6w II i q-gfl-ift frsr mn frrqFf frq ftT{d h qlcii frl drq 6{t ft1 q}-q!T cqr rfr di
Ststement f : During evening holrrs' roads are overcrowded rvith vehicles causins verv

slow- rnorrement of rrehicles.
Statencent 11: Air politrtion level in the air has substantially increased in the recenr pasr.
6w I ' qitimlf, h d{-{ n-sb Erf,{i t eTBm. *.e-qrE qrfr fr ql-fr d fr-fi- ftrlT q6t ft1 'rft e-gn

uuq.r IL ffi*Hfrngq$q6T{r{qrsr uqffies.rqrtr y [b)
Read tire fbllolving tu'o strLternents and answer the question given belorv i - r7\'

Stntement,f .' A ancl B to-eether cornpiete the work in 10 days. S 
*t)

Stutement trI: A takes iive days more than B to cornplete the work.

Fiow long rvould it take A to complete the r'vork ? To ansr,ver the Quesrion, correct choice,
t:) .

(A) Statement I alone is sufficient, but statement II alone is not sufficient.
(B) Stateinent II alone is sufficient, but I statement alone is not sufficient.
(C) Both staternent I and II together are sufficient. \

(D) Each statement alone is sufficient.

F=q qT 6*qi q;l qBq 3iT t'i'.; Rt,Tt sqq 6lsfl-( flfrg 
'

r:wI: A eir B qHi Rrrfi{ 6r{ qi 10 FEt fr 1cl mt tt
6w Ir; md qi 

ST 6{+ h Ftq e ftt 3TEeil A 5 Rq orfq6 fr-or tt
md 1n sG q a fu-cfl qq-q .fin ? qqn.6T sfl tt h frq, qr& qq-q t
(A) 3tb-fl'oem 1q-qin-t, iiB-q qbcr 6.qq II qqfq q-S fr1

(ts) irhdT 6E-{ iI l-qin t, :}bq ,H6-cf mrq I qqfw r& tt
(c) ffi mq-n t eir ri Frdr-;{ qqtw frl

(D) tr$'6 m'w;r 3r?,dr rqln i1
E-{} ""

{f,,7.7t Four persons A, B, C and D share their prize amount of Rs. 1,00,000 in such a rvay that

lvt_/ four tirnes the A's. lhree times the B]s, two times the C's and D's prize shares are equai.
t> The surn of prize amounts of A aldf is : s

1/'

(A) Rs. ,10,000 (B) Rs.48,000 (C) Rs. 54,000

-qR qfu A, B, c s.t{ D i{qfi 1,00,000 Fqt dr g{Rn ft1 dRT orqfl E q-fl nr{ t ddt B B n h
gnqrtRmidS*, B bFdefrsTfrqg!'T, c,:rtE n hNi 6rfrUiTqfiq-iw(dt a,:ftE n al
gRf,R dfilfi or qlq t ,

(A) ;10,000 Fo (B) 218,000 Fo (C) 54,000 Fo (D) 60,000 Fo

tu.

,c .t

V
V/

-/r(.5"
vl 6\r

(D) Rs.60,000 \/"

,@783tA P. 1'. O.
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13. A piece of rvork can be done b-v- 6 men and 5_women in 6 da1,s or lkffi\r,omen in10 days. It can be done by 9 rnen a'd 1t 

"r"r"-.r1, , AA

(A) 8 days (B) 5 days (C.) 3 du,r, { , (o) 2 days
ft.fi q6 mr'q. +1 6 qeq cir 5 qM o Hi I, J-, wl' oir 4 qftcr} ro fr4 fr TqT mi n-*e d,i qee guq :fti is qRni$ ffi ffi + g., o. q-6A t ?

r .' ' t' (A) AR-c (B) s ft-q (C) : Rq (D) z trqr-A

i:-g;i|.t*,"rtt-:jf"^' _LW,t::t^,tl". 
rlun t,to cover the same ctlslange. rf A rvalks ar a r.are 01.

\v

,) ". - 
,.,$,9 lcrn/h" then the speed of B jof B in m/sec.. is :i'i ',/ :)

\ ,/ ,av'\---/ i v ..v)/

*+-'!fitt

t) 
"

,.'r,Qf'il ''/ i,r\
t_f'

/.1V v
l?tuK,tv.,-.t \-='
f. ?\\ (r.r

(A) ,;,/ (B) z!
9

(B) 2se

(c) 31 {(D) 5"vg
fftr 1f,_y[ qfr vrr Td U.nq, a +1,:rteil rc% a,qq.Erq d.rrnr tr qR rA9kmr'h#tl"F.E.f,dl E, er g di rfr nl,r.. q Ezn t i

I(B) 2: (c)
L)

7(A) 2',
n
Y "7J_

9

5(D) s"
a

-.2\ 15' Trvo pipes A ancl B can filI a water tank in 24 minutes and 4g minutes respectir,elr,. [i.,i-A;, L, both the pipes are openecl sirnultaneously, then after rvhat time tlre nine R r'rrrcr rrp ,.r^..-.1
v\/Lrr Lrrw PrP'vs 'uc upeneo slmultaneously, then after rvhat tirne the pipe B must be c]osed

).t uo that tanli n'ill be filled in 16 rninr-ites ?'^,'*t'f,

l',rYCjj 
e -s_ ^r"l 

t: ^ (c) 12 6o) 16 \/-\h\.-*qigqA crti B \rn qr"t+t.+t+1nrQT:24 ft-{deilr 48 Fr;etgr. *?ot;, #ffiqnqq6( L.y* ffiq q)-n Rt qlit, d} ftart vqq h * *w u ft} dE *'#;?_ e{{'fr h d_61 i6 ft_qz * qr no ?
W1- -x- (A) q (B) 10 (C) 12.. (D) 16 , v)

number rvhich when increased by 5 is cornpretery divisibre by.g. r 1. and 2zr^

(B) 2ss #L\ . 
(c) 28e y. (D) 3g3 ):Ll,

eqT t fu*c q-q 5 fr Er.dTqr qrdT t n-q {. s, 1 I 0i. 24 fr wftrqT Rqrrkc ET Erdi i ?

The smallest
t)

,11\ "t7. I[.r *y and (.r, -.u)'
"t-'-

r/ (1\) 'l,+.1 :.Y-J'x ../-.'=\

.,,1' (ci x:oV
"^7 I -!.^ -r .

(,, ilrQ .r +.r. 3IR (.r _F l,).
_v,i

[]' (A) x * y:.tr -,J.,

(C) r:0
TAyA

= (rr - )i2 ,then rvhicir of the foilor,,ing must be true ?

(B) x+y:-(x--r,)
(D) \): 0 vl

= (x - y)2 t, n) Fe-ftfua t fr etq-qi R-S +{r fi ?Tfdq ?

(B) x-!:-(r*1,)
(D) r/: o

(A) 243 /_,
qE'mgnqneT

(A) 243 (c) 28e (D) 303
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i',,,'/ \ a.r''' ) l-6: "- it
hens a'd goars. rf rhc r;6i{*rmb.. or'#i,',ar heacrs rr;,;,4.,,;1","i

legs are 234,thenpercentage of he's i'totar anirnals is : \€'
Krishna has some
number of anirnal

(A) 15%
:.\(c) s5.%
9

qR qU aN ft1gm qreqT 81

/ rnt ig"

t siT qU dFr eir gro er<r

(B) s4%

(D) se%

earner. Subsequenti;' it
both these commodities

/\'i.4 U
l.' -,lv-\c /-' 1.

^. ' \FN-{ h ryq" SS otu rcRf di
f,T gT qgcrT q $-tqt ot qfuqm t ,

(A) 4s% (B) s4%

conclusion : At first rice was country's largest foreig' erchange
rvas replaced by raw cotton and cotton fabrics. Norv
have been ri:piaced bv carpets

(A) Definitel,v true u

5(c) 55:oA
c)

24.

The average age of A.and B is 20 years. if C were to replace A, average wouid be 19 a'd
if C ivere to replace B, the average rvould W2r. The ages of C, B and A respectively are :

91"_t_.&?q.:r. tBr 20. 18,22<n"/ (C) t8,.2.2a4. (D) 29.22,rs XA 3Tt{ B dI 3T}nf, srTg 2_0 
-+S tt qR A b i€rr-q q{ c n} tta * oltfld r 9 +r .fr # i1 iu'o o-*

c qi frA d ni ,3Ttnil 2l +.rl c, B ofr{ a +t eng mqQr; B :

(A) 18,20,22 (B) 2A, 18,22 (q) 18,22.20 (D) 20. 22. 18

Three numbers are such :hat first is twice tlre second and is half of the third. If the ayera_qe
of three numbers is.Sp, tlie three nurnbers in orcJer ar.e :

(A) 18,24.96 /1(B;_ 9_6,48.24 (C) s6,?a48 (D) 48,s6,24
dlq 11@l{s( ffi{ €.tu =fr ff ftt ffi t.i. fi-tffiefi tr qR O#ui**i ff efr{{n so t,
ot mqqq ftq Hcn{ E ,

(A) 48.24.96 (Bj 96, 18,24 (c) 96.24, 48 (D) jlS. 96, t4
Birections for the follolving z {Two) items rao. 21 and 22 :

In each of the follou'ing trvo iiems, a statement is followed by some conclusion. Choose the
correct ans\ver for the conclusion.

FirqndrfuH 2 (*) qlrteii (iiu zr c*t zz; *.ftq Fr?rr :

tra Rq rt sqriqii q q*-6 fr, qc 6'fi b fTq M RqT rqT S1 ffi h frq q-& sn"{ gftq1

21' Slctement 
" 
Afler rice. rarv cotton, cotton fabrics and carpets are a country's lar,qest
foreign excharnge earners.

1

:,

:

(^/ rrelrnrrety rrue I (B) probably true ,(C) Probabll'false (D) Definiteiy false '/6w : qrde b qrq 6sffi., qil 6* b Es ,:n-q 6rfi{ l:o tqi h frtqft 5qr h q-{fr qt ,3d6 dIM' S o* *:jqr f;] frtqft gqT 6r nqfr il.sT,E-dm qr"i qrlh il-{ Ewq ift{ qgt 6W h q1di
q q-{r6r er-q;T ftqlr

(A) frfqTn $q t v& t
(C) €qqn: r-f,.d t

7fistA

{s F-{q ffi--dm q $-q qt-ii qn-q q.qT{i 6r.eTrc m fuqr Fr

(B) sq-qf,: r& t
(D) frR"f, sq fr rr-dd t

: 1:::.::-{I'll:-j,;

1|..:'...:'':.'l..:.-.]'i;.:.-.1.::.:].]i.:.:];'..:.'..;.l:":...'

P. T. O.
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'/' ,, ^rr-l'!)v/ rDr 6:0 Ly>:
t, nt s-qb ynu-rrl, g6 qR fr * ar gV,

^qUzt', './
-1"' .- ., t.l

): c itl:,-
:),'- k

r..ci-i 't--t,ir:

ffi/ stotement t 
li.:,:fit:iiffi:?ght rne that the silence is parr of the spirituar discipiine or

il'ift11Ji.illti;'i"1';li:,:Jffi l1i1,'L',i11'*:ili::*"f..,;;,li
conctusio'f;'.J,::,':rfit:*;T:l^::'-.:.'.f,,:i, 

g.o*lh without s'ence o ,,,un
::.?H:"t#lible and distorts ,.uth.-po. irr. olr."r#i or ruth. silence is

13 ff|lilfi';i:; \/ .') Probab,vr*re

6w : 3rq* 
IC.ri,""rH. E=' B p;ry *$! roi'il$lF.* 3rsarnn ni \rn ;iqr *iry'ffiffi T,ffiq*q-*-qs*M' encqTfu-6^fu"mT*i nq do *so sT*qu_6' tr qtq b b-iT .-c n-gq, siimT-\,Tmi 

er. qrm t 0i-{
(A) 

"#nTR=** 
ti q-qd # e" ; frq, il *. *nqqrn 5r

^ (c) qqEtr: 
'T-dn B. P] 'I]*+' rs t

(D) freTd qq fr,r-co t
ff 

tiffi;tt 
'"t 

cligit nu'rbers obtained b1', using digts ! 2. 3 anci 4js ;

:m] t' z : eir-*#-#ffi:-*mo*(?tr'L."J# uuuoJ
(A) 100000 (B) 60000 (C) 66600 / n\ . r t . ,\\v,/ uuoul/

" @ Ira'e.age orrbur numbers is.2p ancl averase;; r;*ares ,, ,fi1r::::.^-. orrhcir
nt\ \g-' l.!r-ndrr^r

.--,n.!t, (A) 450 G) 475 (c) 550vzt'" 
nffiyeil *r ancr-r zo t efr-{ wh q"tr * *-.;r;
(A) 4sC G) qs

>+{,, 
+ i J (C) 550 (D) 650

? ;'l: il::ilff||;X1.?,:TjiJ:i',", !: lanarheir expe'criture are in.rqe : : z rreach

**,;,.;ll-Rs 1'a0a 's'/ (B) Rs. 1,500 (c) Rs, 1.60() /n\ D^ 1on^. U ,:,."w \./ \.IJ) XS. 1,500

*)K! u\ B^d,3Trq {: : b erEqrE { t €ft{
4,);e-cr*.m'e6Tunt, 

$*A*#%i #*' i,* 
u.* * €,rr-s-ifr ;:', ; .-# u r, ;?u-T,#:'- c qE-d

W:' ],'.ooo 

u' (B) i.500 uo 
,r,=., 

(c) 1.600 Fo (D) 1.800 Fo^ ' ,AdY'on q,-lli-^ n- j+^. /'r\ \)'") 1'6LrL' ho
\_z ,,ng an itenr at Rs. 1^ .1,

./ 
\v 

Rs.80. rhen,r,.igh, 
"t',.,"H;-*i]T: "tY' is incu'ecl. if rorat loss of rhc sclcr is

X. i^\ 10 / ,



/

fF##HHTS " r% wqrT snqr q-qdT tr qR hi'dT 6rsm qicT 80 nq+ 6, +
(1.,) 18 (B) 20 (ct 2r

2v' A shopkeeper clairns t. seii items at no profit no loss. If he uncierrveigrrts items g00 grarn
./',n^:t.:: 

of one kg and 
'dds 

20%o impurities, ,rr.n ,ri, profit percentage rvili be :r (A) 20 or) 30 (c) ,o / r/ 6 ;; , if?q*u,
q6 5fiq-qT{ q dTeT q ETfr qr ulg.ii fr} ffi frI qq16ror tr qR Ee qq3ri fir..sq rqq fr* ,fr #o 

1q-+fr 
soo nq fi-om't ffi wt zox ;*rB * q-n t, nq e-ror mr?T qfdqra *n ,(A) 20 G) 30 (c) 50 (D) 55

Directions for the fotorving 3 (Three) items no. 2g to 30 :

Answer the foilolving three ite'rs based on fir,e numbers lsa, r{r,96r, 5l3and g39.
frqfufum 3 (*-q) qefiqrt (rio za fr so; h ftrq frTqr

qiq TitqTeil 386,7s2,95_!,s73 efui s:g q{ enqrfrd @n filgqm.qfr_* crr Elf}El28' Ir in each nuinber the second 
1o 

ft3 iltlJJ;JJ :..1,1,1,.i#-., -har w'r be tire sur' orthe first and third cligits cf the largest number ?

(D) 24

17

HrqT b q6A s,t{ d}Rt

T7

the low'est number

169

-:-_-
fl | Q('i

169

\/
(A) lo (B) 12 rc) r { /\

Rry11T t rrt,'fr{ ffi .ftT fti .,* tfk 
tpffi* 

-,* $ieTsl6T q'tq 4z[ €rql :
(A) 10 (B) n (c) 15 (D)

j:ffi:: 
lul"r.r, 

unir and hundredth placed digirs are interchanged.

/ A \ .i-r.ru ,1/) (B) 257 (Cr 16l (D)

ffi* y u' t6d srlr i-+-B fr errqi qrc'f '3r-+l dr enqs t qeo F-qT wq,

(A) 375 (B) 257 (c) t6i (i))

{.v"

sl /'
q6n {fr €qF

JU. The nu'rber at unit place' t;f sum of numbers at unit places of given five nu'rbers. is :ttt ! -(r-\, r (B) 2 tC) : (D) 5* gi qr" rieii':fr i6 nsd rerTri qTfi TirqTeiih qr"T qTff qrqT b n6d Fnq fr1€cqr.t- ,
\./

7&3/A

(ol , ,{/ (B) 2 (c) 3 (D) 5

P. 1'. o.
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iti::vf stlt/
\z/ ;t

.,) ', l tt', :''

l'' t i'i'
'r', t )

l.-. ' /,- .',

';' ") 
tl '

32.

,.:-l:..'r, ':t .:t::'-" ::u::: _ -

^{1 '"
L''' ' t 

r'

Thc probabilities of lbur rnutually .*.r.llllo. and exiraustir.e events A. B. c anci D. satisl\,the relation :2P(A): 3P(B) :4p(c) :6p(D)" The 1,r.obau'lni;;.:;;r; ; ,

(A) 2trs (B) lts vl (c) 4t15 (D) 2i5

(A) 2trs (B) lis (c) 4t1s

qr rR-q{ i{q-{ffid ':ilt fr'q}q q,-ff$ A. B. c .ti o o1 qf;-et.'q F-qq , 2p(A): 3p(B) : 41,{c):6p(DtotFWmt-ntst rrqTc+T9-Ifu-6dl€, "\ \-' Lt r1\r -

(D) 2/s
A student has 1234 marbles' I{e *'ants to arrange the'r in equal nurnber o1,rcu.s 

'r:cjcolumns' Theniniruutn nutnbcr of marbles that he ncccl more fbr this purpose arc :(A) 62 " ,"/ (B) s (C) 3 (D) 1

q€ fuqT'"T m qrT 1234 qta +l q€ a;r+i vqrq €@T qT-df qfm,ji ,:rjr m=qt t nqrqi ilE-iT trt ilE vtirh frq ctftfrn5 zr.ii6t q;rilT qr3qT, fu.f,-+t sfr eirqqq.fr-dT +[, t ,

(A) 62 (B) e (c) 3 (D) i

,/i/rL;
(*",/
\_: '. t

,(.-

Three persons A' B' c had cliflbrent amount of rnone'rvith thern. C had an iunolurl cciualto the average of thcir tojql. A spcnt haif of his rnoner,. B spent 213 ofhis r'.ne.n,iinrj cspeut all of his rnonel''" 'fhe reniainirrg a'rounl * irh ihcrn is eqr-ral to haif thc arorinr. I]initiall.v have. The percentage of total arrount spenr b1 ari togetlier. is :

(A) sa% (B) 7s% v/ (c) 8094 (D) L)()(,/o

f,r' q64t A. B. c h qrq '3rr1-{-0Tdr' q-{Trw tr q6 c 61 {rf}r ffi q-fud- +1gn irfti * ,g--.*.h en-qr gi a '3il-+ enefi (T|sj sd mr tnT t, B 's-rfi zz: rfti sd 6{ t-il t eir c eiq-qT 1.ft nir uziat{ fdr *t cq ffii b qr{ s* $ ffi^e fr1 !-f, nRr *t *,* * {-{Tqr + dr ; * * lF t,jir n*ffi h dRT u-d ft1 € So 'rq"iny o oh]* * ,

I i t',

i .l_;

t . ric
I

!

i,

'\\;.2: ?"^' 
,'.\

'r .. 4 )''I r ,i
\,t' 

* 
'l

.ja0
t

.t6'.
., 't ., <r 

I

i- ./

' ,1t.,'! " 1v
{ 703/A

(A) 50oo (B) 15% (C) B0%
t,

"ffi ol".*tions for the foilorving 2 (trvo) items no. 34 ancr 35 :

Reaci rhe infbflnation 
-eir.en belor,v ancr ansu,er the trvo items that lbrlorv :

Five cities A' B' C' D a'cl E are fatnous 1'or one arnorg : big g$dens. rivcrs" cclucarionaiinstitutions. rnountains and scents but not in the ,orr. o,, r... - -----:'',H" t"'3''u'
-----4- 

-{il A ancl c rt,.l ,e;arclcrrs. - rfu** , ,..r .p1:,'(ii) B and E are not furnou, for ri..riffiu'rains. 
, ,rffi"t'"-i"l)D!'r 

'
(iii) Scents anci rivers havc nothing to do r,vith city A.'t'' r:"rl f^r. r1.rtr'r\-

(iv) D and E are not famous for big gardens and ri'ers. \ g u-!@

Lz)fffl|'ylr"=: -

(r') D is not famous tbr educational institutions. n ,74-7* X, -.--* ^ llt iro..*

n)^ r'L). y)]:tw

(D) 9o'%

", 
--, Iv t..- 1'.
/. .zJ? u ,. t* t "1+r{1-'



o
ffi"fuR 2 (*) rqqiefr (d'o s+ afrr:s) h ftrq frTw ,

{?T fr q$ qTl-sifr dr qBq efrr sqh qaETq ,Tli qrfr ql sqqiqii h rrn *ftq ,

qfu qrc-i A, B, c, D sfrr n qqt fr qo h frq qRq d : qB tsqrq, qfui., qleTFrm TiTqr{, q_orm efrr rtfrftq qq mq q q-&t

(i) a efrE c ii q 6t *ffio tiq d atrq q.* qi cqmr

(ii) e 3{t{ p qffii qr q.ifi:n ftrq qRE q-€i $r

(iii) arg{ A sr r* €frr qRqi b vq frt$ fr-{,_t-{T € tr
(i\, n eir n € s-urfr eir .rffih frq qfu-q q-& dr

(i) n qlfe]nTo Ti{i{mr h frq q.fu-q q-& tr

34. The city E is fainous for :

(A) Rirers {
,, ,r' (C) Edu.oiional inrtitrrio n 'r/V' -- - t./

arfl E ffi'ftq qfu-s t . '7'"' v

(B)

(P)

Big gardens

Scents.

(z\) ERqi' 1e) G rnq
(c) qlqTFm slaTfq (D) {d
which of the follou,ing city is famous for big gardens ?

no,.i ft,^ ? f-- G) n { (c) c Xrrl y ffiFFa { ft fi-q_m qrcr q:; .** a mS qRq t ?-(A)D 
G)\t/ ) r.tc

Ilirections for rrre fonowing , rffi ^;1"a d to 40 :

(D) ")2
(D) R

The ioliorving 5 items are based cn the fbllorving passage in Engiish to test the cornpr,-rhension ofEnglish I-anguage ancl therefore tirese items do not have Flincii 
'elsion.frerRrfue s (qfq) qqqieft (d.o se il +o) h ftq frtqr ,

fr-ftRffi s qan-iqi $itfi h ftqftfta qffi-{ ql enmRo d fi( tiitfi qrqT h q}qq h ,rfreirr h idK di .:ro,
{q sa-.{ie} ar F* qre q-& trqr w w tt

Both plants and animals of many sot'ts shovv rernarkable changcs i1 tbn1, strucrure.
gror'vth habits and even mode of reproduction in becoming aclapied to diflerent cli'rareenvironment, t)lles of fboii supply, or mode of living. lhis ai.rergence in responsc toevolution is cotntlonll' expressed by altering the form and function of sorne parts or p.rrsof the organistn, the original identity of u'hich is ciearly discernible. For example,creeping foot of the snail is seen in related marine pteropods to be inodifiecl inro aflappir'g organ useful for sr,vitnming, and is changeJ into prehensile arils that bear

7#3iA 
p. T. O.
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sectorial disks in the squids and other cephalopocls. rhe lirnbs of various mammals arcmodified according to several cliirerent rrocles o1'life - flor swift running (cursorial) as inthe horse and antelope, for swingi'g in trees (arboreal) as in rhe rroni..lrr. tbr digging(fbssorial) as in the moles and ,eophers, for flying (r.oia't) as i' the bats, tbr su,imming(aquatic) as in the seals, whales uno ootpt,in, una-ro,. clher 
"a"pr"til"#irre stfuctlrrcs or.organs that shor'v rnain change in connection rvith this adapti'e clivcrgence are commonh.identified readiiy as homologous. in spite of great altera,ions.

(D) Theory of evolurio" V/
A\

F0/ The author's style can best be clescribed as :

i he most appropriate title for the passage.
(A) Adaptive Divergenc 

" " ,/(C) Unusual Structures

based on its ccntent. is :

(B) Evolution
rT\r A1(U) L hangcs in Crsarrs

(c) 18 (D)

The creeping foot of the snail is seen in related
flapping organ useful for :

(A) Biting (B) Su,inging (C)

The atithor in this paragraph not pro'ide information on :

(A) Factors causes change in organisms .
(B) Hor'v arc the horse Iegs rerared ro sears flippers
(C) Lirnbs of various mammals

marine pteropods to be rnoclificd into a

tt{

Su'irnming , (D) Jrirnping

Objective y,//
(A) F{umorous (B) parronizing (C) Esoteric (D)
The rernainder wiren a number 2B5r x (2862)2 x (2873)3 ;s cliviclecr by
(A) 5 (B) r7 (C) rcr,,/ (D)
qq \16 qrsr zss 1 x (2862)2 x (2873)' mt z: fr frwfr-d frqr fln t. d} e)q
(A) s

2\is
t9

(B) 1l
--\(a11r 6

r9

36.

37' 
frffi:l,:TTIL:i,r'lt, substitrned ror "honologon.-i" u,ithoul subsranriaill, changing

,/
v/ tal Altered (B) Marnmalian (c) correslroncling(1 Diverge'r

38.

I

V
39.

42',^*The number of zeros at the end of the number obtained, b',''rultiplving the numbcrs from
@;,, to i0pwiil be : ,

,r1/iYi rn'1 16 G) 20 (c) 24 " \./ (D) 36,./*' ,// " r Tf 100 crm' q* Ti?eTar] a;r gw oG qr nw g{ ii@T h arn s ffi aiq dq ?

(A) 16 G) 20 (c) 24 (D) 36

7A3/A



A person makes a profit or 20Yao, ,",tii.g2yntt*{K."ru*.-iJ"ge in prgLif hepurclrased the articie at 209n less ancl seti it(!f. more. is) .'{.' .,, -

i47') In cvclic quadrilateral wXYZ. lhe ureasi-rre o1'angle z p-rg rnore than tr,vice the average\.-
oi the llleasul'es cl'othcr tltrre ansics. l-hc ntcusrrre ol'ungle X. is : LJ ,d(A) 1 s0 (B) :0 (c) 12-o (D 50 ar4 ' _/

* ug$t wxYZ t. ditT z frI rtq er-q dft ui"ir A qT,fr h E+(rd h Sqtr t 10 Epr6 tt a".tor x mT

q6 qfu q6 qE ft1 q-d-6{ 2aty'o N m.iT GTFfd mr-or tt qR qe 20% 6q r{ +lg u-fi{ir t e1{ Er-*}
10% *fu* q-i aqf,r t, oi o'" ii 

'hqrf, 'M-{ 
t , ' ' ' '$ 

s.* \ 
.? 

-.-r-..(A) sa% G) s% (c) 15% (D) 2oo/o 6 '4,*r'

.=5(.i ,r,ff9tYPe: z )( b/ -,,-r,.i,,{\ /6V\
(A) Right angle triangte 1./ (B) obtuse a'gie rn";fft g: ' '--(V';

(c) Equilateral triangle (D) Isosceies triangle 
z 

2yqo ftuq IBCftH q'mT-{ 6T t frq_fl qftqrq 56 ,3fr{ Uqi{gc : r r r, AB: 41 0rt{ AC :5(r _ 1)a:

']i bimhrdn{-si gyi g4ft1 $rlrt 1.3 wTT **afr€r qn sr gqi].i# ffi L a * +qi' ',-- fpti q Sn ffi di ii{q+ ,,$ s \r'
'. ^ (A) 16 (B) "1,0 (c) 63 (D) 92'v' //4 ]

/qA. lTn" sum o1'ages of a fathei and son is 45 1,sa1s. Five years ago the product of their a_ees(/\*'/ was tbur times the f-ather's age at that time. The trvice the clifference. of father and son's
age is :

(A) 72 (n) .i5 (c) s0 ,/ (D) 54 f 6;
qqt R.fl d- q,fr.re * Tr-= *S q{ tf qfa E{ T{,n si-di iilg frr gtrTlr6-d sq.q.q-q qr fr-;r di,:iiq
frT qR T{l Wl fr-dl.riT 5a A1 .;itg fi 0ffr-{ 6T gq-qT i" ;

,Y^)
try'

(A) t2 (B) ,-r5 (c) e0 (D) 54

(A) qq-q;inT frUq G) ,3TRl-6 C"i tsuq
(c) nue6 R5u

r&5' The first bunch of bananas has i.3 tirnes excess to as many bananas as in the second
bunch' If dilference of bananas in two bunches is 12.-.then total number of bananas in two

*+
tsl I9 Q ;

(B) 30

783/A
'' y't

i "i,
\\-)'

(c) 120

L

(D) 60

l.

(c) |s%

(A) 1s0

D'f.\r . 1. \_/.



t)12 'l 
'"1 --48. Brand I solution of sugar s)rup has.15% sugalarfr another b;,and II. sohition has 59,osl-igar' Ihe quantit,v in litres of the second solutiopr, inust be ioa.o b 20litres of first

/ solution to make a solution of 10%, is : --) t
,/ ,*i J _ {n) io (c) 15 (D) 2o ,r(r,'

dt+l fr qK{f, h qFs I h qrm t t sx *-fr t':,tr em il*€ II h *-f, fr 59.,0 *ff tr q-d-fr q.[ir. d20 fte{ qr+r ii tot dm ht fr,d;fr qFT, R.d{ t, M ** *eq nfr"qe 1070 ffi qTRT dm Q!.qTt ,r

(A) s (B) io (c) 15 (D) 20
Directiorrs for the foilorving 2 (fivo) items na. 49 and 50 i
Read the inlbrrnation given belor,r, anci ansrver the trvo ite'rs tl-at fbllo', :(i) P, Q, R, S. T and U are six members of a farni11,. eerch of them are engaged in somedifferent professions viz' Doctor. lnq,y'er. Professo,:, Engineer. pitot und N4ana_eer.(ii) Eacir of them stav at home oh ciitferent da-v of tire rveek. starting liom Moncla' roSaturda1,..

(iii) The Larvl'er. in the famil,v stay at horne on Thurscla.,,.(iv) R. remains at horne on Tuesdar,,.
(v) P is a doctor br''r'profession. does not stav at home oii Wednesclv-l vrurwrrrL'rl, LruE; liuL srti.\,at nolne oil wednesdal, and saturclal'"(vi) S is neither the Doctor nor a Professor ancl remains irt home on Fr.idav.(vii) Q is the Engineer and T is the Manager.'ffiTfuil ? (qb qrqipii (d.o +s efrr so; h ftrq dtr, ,*f * rTf qTq-srft fr1 qBq .rir c$s qqETqeTri qrfr q}qam-qfr h enr rrrqq .

(i) P, e, R, S, -T 0.'ti U \rm qRcT{ h g, qc,t+ d, {nq fr q*6 qr{ f}q q..{flq fr q_tr t 'It ic|

(ii)
(iii)
( ir')
(r')

(vi)

ivii)

49. Who is the pilot ?

(^') s

(B) R
(c) tJ
(D) Can't be determir-red fiorn given inforrnation
qlzrf,'E dh t ?

,. /tA1 S"r,/'\./
(Bi fr
(c) u
(D) { rni qr{6rir ri fr,*no qfr ftqT qr q-rtTi

/ u3/,t\

a h q+ fts Rq ri T{ qr B-{T6T tiqRfi{ fi q-*t-f, gsEqg ER51 Td-cd"ltl
R. ET qr iqrmqr{ *i a-gror ti
P E'{flt'+ fr qo Sd-c{ t, q-6 T{ rr grlq{ eir qrfr.-qn mI € Trcfl.ti
s q * grffi t oftr n fr qfi !ihe{ sft{ qE T{ w irtrER qi renr ttq q;fffrw t B,ir 1 fi-w ti \--

p
I

q)

ni\

-\

2 "-J-

iyt r:yff

.firvI
rr*
l'?9 v ".-/

'(i

)t_

i)
l./^,
'f il-'.\

f-qt

iv
r'-i;,ift

;r,d
Yi Ltit

it1*

L*-t-
t

4'l^*'*I t'



50, Which of the folln.x,i.- ^^.-Li- -: 
-I'3

(A) n,,",1l,Tli':':7"-oinatio' 
is co*ectr 

ru*r.,_ruesday(C) Professor-Weclnesdav ;^. -

,,/ ft.{frftn; t ao-"'ffi ;* t (D) Engineer-rhursdav

(A) qrcrf,e_gft-fi 
1n) e_*t"f,_rmwT{(c) *hrn-gr+n (o) F_fihq{_gbq{

Directions for the following 5 (five) items no. 5l to 5
The followi'g 5 items are based on the following ourru::1n9rln to rest the comprehe'sion oj.Engiish Language ancr trrerefore these iterns ao *ihave l{incri version.ftFrftre-n s (qfu) reqiqfi (rio sr fr sq h ftrq Rttr ,

ffi; ffiHHHTHroRs. q-< enqiRn d *Tt{ +ihff Erw CI q}q-q h rfteror h Rq ti ero,

"'i'he emancipation o1'wornen," James J_oyce toid one of his friencis, ,,has 
causeci thegreatest revolution in our tirne in the rnosi irpo.runt relationship there is -_ that betrvecn' irlen and 

'vo'ren'"'ofhei'rodernists agreed;virginia wooif clai'ring that i' about 1910"human character changed," and, iilustrating trre new balance benveen the sexes, urgecr,

;1;i.,*:*::T"lT?"il:""' 'vvhether - vour ,r,oo.;,;,-;;;;, armosr entirery rvirir
,rore, has been the fight ,br,;,":;.;1,k*tTfff.l" o"o'st fight for 2000 v.u^ und

But if modernist rvriters considered wornen's revort against men,s domination one oi.their greatest and deepest themes, only recentiy .- in perhaps the past i 5 .v*ears - hasliterary criticism begun to catch up with it, Not that the inages of sexuar antagonism thatabound in modern literature have gone unremarked, far noi it. But what we are abre roli:ilJt||"iil:'T iffi::ffon 
the perspectiv., *. bring ro rhem. und .,o,^, rhat wonrcn -

I an ds c ap e s o r I iterarv n',. 
",, "" o,#il'fJff il'T:il, il'"i:fiffi:f" J [Tl*j.:t "

51. The title, best clescribe the content of the passage. is :(A) Tou,ards a lrlelv Criticism . ,/(Bt Modcrnisr Wriro.s arrcl the SXor.t, for Equalitv(C) The Meaning of Literacy Works
(D) Translbnnjng Liter.alure

52' 
ffiff:tr's 

attitude towaicl wolnen's reformation of riterary canons can best be descrjbed
(A) skepticisrn (B) Endorsern 

"ntt/(c) Indifference (D) A'rbivalence 
"

j

703/A
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The author quotes James Joyce. Virginia
sholv that :

(A) These n'ere i.errinjst rvriters
(B) r\lthough r,vell-rneaning. they. rvere ineffectual
(c) I'zlodern literat,re is depenclent on the \\,omen,s n-,ovemenr r,
(D) The interest in ferainist issues is not nerv ,,/,

54' Aqcordi'g to passage. rvomen are ciranging iiterary criticisrn b1. :(A) Noting instances of hostility betr,veen men and wornen
(B) studying the r'vorks of eariy trventieth century u,rir.ers
(C) Rcvierving books rvritten b1, f-erninists ,,
(D) Seeing literature frorn fresir points of ie*, ,/

,7u' ]ne 
riora not describe the'reanin-q of "ernancipation", is :

' 
,{ .:(o) 

Freedo'r (B) Liberation (c) trtesrraint " /() Freeing

i66,'' The nut'ber of cliffere't pizza orders can a customer place. if rre has options rvirh 3
\--. different crusts, 2 sauces una to arrr.rent toppings are :(A) r20 (B) 60 (c) 216 (D) 64gfr n'Efr dRT Rq w n*i 4r-fr fufuH fr-$rT .rrsii hl Ti@T krfi +'ft, qR snh qiq 3 f+tr-r qq64(S€), z qcR-* ({Fs) urr{ ro efq".ft.il*frfit"\:'ir 

rcnc'rt €rrrl' qr{ uRHqrn. 3 ldtimv{
(A) 120 (B) 60 I

6a
Woolf. and li. Ii. Larvrence primarill. in orcler to

f

F

Kanika said tc her friencl that yestercray. I attendecr the birthclaronly' son-in-lan' o l' rny'rother' s rnot'er. I{or,v is t<anika I e];ffi;party she attended ?

(A) Daughter

sfr.FT t oTqi fr-d fr
fuq-t 6fr6T tq 4-Ef

(A ) qt'i
9

The next nurlzber
,/\ '\'(A) 5i, ryi6 7b

q .r ')/..'tt./-, )/ - I U,i_r. I

(A) s;
o

(if ) Vlother

sEr ft"q;o tt el.i-fr
+ kT q-6n TiqFId i-

(B) q|dT

(c) 216 (D) 64

partl' o{'the son of ihe
the man r,vhose birthciav

Niece

t''| f,-;nF-r rrril # n-1l -t.a'rl 9,cl 
" 

* {

?

o-F-4" r^;J-*iill Ili i-ll rli

mnT *1 qtRT h q-+.-irt ilqTE +- T,
ffi qrq-fuq qrfi t sq+ qiq #

(C) Sister )rI (Dl

(c) E-fi
58.

//tl
V

in selies 2.312.
('V l't'{tu 6:'
Iu

5,tJ )A/<
J:'.....

l(B) 6^
o

10t3. 1514,26t5.
'9( ,"( o*.1..,_-'-'-' {(=f

. q .3r-rfr vqr t ,

(D)

\S:/'.>
't/r-.--. , fA, A

"{{.,ot sl

't.t:+'<'

5 t--
'7-"6 i'

5la' 5o-o-
6

703/A

(c) (D)
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1. Consider the following statements and choose the 
correct answer with the help of the codes given below: 

Statement (A): Akbar constructed Buland Darwaza in 
Fatehpur Sikri in 1602 A.D. 

Reason (R): Akbar wanted to make his Gujarat victory 
unforgettable. 

Code: 

(a) Both (A) and (R) are correct, (R) is the correct 
explanation of (A). 

(b) Both (A) and (R) are correct but (R) is not the 
correct explanation of (A). 

(c) (A) is correct but (R) is incorrect. 

(d) (A) is incorrect but (R) is correct. 

1. िनɻिलİखत कथनो ंपर िवचार कीिजए और नीचे िदए गए कूट 
की सहायता से सही उȅर चुिनए: 

कथन (ए): अकबर ने 1602 ईˢी मŐ फतेहपुर सीकरी मŐ बुलंद 
दरवाजे का िनमाŊण िकया था। 

कारण (R) : अकबर अपनी गुजरात िवजय को अिव˝रणीय 
बनाना चाहता था। 

कोड: 

(ए) दोनो ं(ए) और (आर) सही हœ, (आर) (ए) का सही ˙ʼीकरण 
है। 

(बी) दोनो ं(ए) और (आर) सही हœ लेिकन (आर) (ए) का सही 
˙ʼीकरण नही ंहै। 

(सी) (ए) सही है लेिकन (आर) गलत है। 

(डी) (ए) गलत है लेिकन (आर) सही है। 

1. Ans– (a) Assertion (A) and Reason (R) both are 
correct but Reason (R) is the correct explanation of 
Assertion (A). 

कथन (A) और कारण (R) दोनो ंसही हœ लेिकन कारण (R), कथन 
(A) की सही ʩाƥा है। 

2. Whom among the following painters of Jahangir's 
court had mastery in painting of birds and animals? 

(a) Khwaja Mansoor  

(b) Daswant 

(c) Mir Syed Ali  

(d) Vishandas 

2. जहाँगीर के दरबार के िनɻिलİखत िचũकारो ंमŐ से िकसको 
पिƗयो ंऔर जानवरो ंके िचũ बनाने मŐ महारत हािसल थी? 

(ए) Ʀाजा मंसूर 

(बी) दासवंत 

(सी) मीर सैयद अली 

(डी) िवशनदास 

2. Ans– (a) 

Khwaja Mansoor was the painter in Jahangir period. He 
had mastery in painting of birds and animals. 

जहाँगीर के काल मŐ Ʀाजा मंसूर िचũकार थे। उɎŐ पिƗयो ंऔर 
जानवरो ंके िचũ बनाने मŐ महारत हािसल थी। 

3. Which one of the following can be inferred from the 
scarcity of currency or coins in the later Gupta period? 

(a) Deterioration of Trade 

(b) Depreciation of Money Economy 

(c) Unavailability of Gold 

(d) Self-reliance of Rural Economy 

3. उȅर गुɑ काल मŐ मुūा या िसſो ंकी कमी से िनɻिलİखत मŐ 
से कौन सा अनुमान लगाया जा सकता है? 

(ए) ʩापार की िगरावट 

(बी) मुūा अथŊʩव˕ा का मूʞŸास 

(सी) सोने की अनुपलɩता 

(डी) Ťामीण अथŊʩव˕ा की आȏिनभŊरता 

3. Ans– (a) 

Foreign trade was at its extreme at the flourishing of 
the Gupta period. During the period of the later Gupta 
rulers, there was a decline in trade due to the invasion 
of the Huns. 

गुɑ काल के फलने-फूलने के समय िवदेशी ʩापार अपने चरम 
पर था। उȅर गुɑ शासको ंके काल मŐ šणो ंके आŢमण के 
कारण ʩापार मŐ िगरावट आई। 

4. Which one of the following does not mention the 
principle of reincarnation of the soul? 

(a) Aranyakas 

(b) Jataka Texts 

(c) Upanishadas 



                                                                                                                                                                                

For Complete Test Series, Study Material, Notes, Ncert Gist Books & Question Bank WhatsApp on 9896160956 

HCS 2023 TEST – 1, A complete & Targeted Test Series for HCS 2023 

www.studymasterofficial.com 
(d) Vedas 

4. िनɻिलİखत मŐ से कौन आȏा के पुनजŊɉ के िसȠांत का 
उʟेख नही ंकरता है? 

(ए) आरǻक 

(बी) जातक Ťंथ 

(सी) उपिनषद 

(डी) वेद 

4. Ans– (d) 

Vedas do not have mention of the principle of 
reincarnation of the soul. 

वेदो ंमŐ आȏा के पुनजŊɉ के िसȠांत का उʟेख नही ंहै। 

5. Which of the following pairs is not correctly 
matched? 

(Deccan State)                 (Founder) 

(a) Bidar –                        Ali Bareed 

(b) Bijapur –                    Yusuf Adilshah 

(c) Ahmadnagar –            Malik Ahmad 

(d) Golconda –                Amir Shah 

5. िनɻिलİखत मŐ से कौन सा जोड़ा सही ढंग से मेल नही ंखाता है? 

(डेſन राǛ) (सं˕ापक) 

(ए) बीदर - अली बरीद 

(बी) बीजापुर-यूसुफ आिदलशाह 

(सी) अहमदनगर - मिलक अहमद 

(डी) गोलकोडंा - अमीर शाह 

5. Ans– (d) 

A government official Kutub Shah was the founder of 
Golconda state. All others are correctly matched. 

एक सरकारी अिधकारी कुतुब शाह गोलकोडंा राǛ के सं˕ापक 
थे। अɊ सभी सही सुमेिलत हœ। 

6. Who were Nayanar? 

(a) Those who were immersed in the devotion of 
Vishnu. 

(b) Those who were devotee of Buddha. 

(c) Leaders who were devotee of Shiva. 

(d) Leaders, who were devotee of Basveshwar. 

6. नयनार कौन थे? 

(ए) जो िवˁु की भİƅ मŐ लीन थे। 

(बी) जो बुȠ के भƅ थे। 

(सी) नेता जो िशव के भƅ थे। 

(डी) नेता, जो बसवेʷर के भƅ थे। 

6. Ans– (c) 

Nayanar were the devotees of Lord Shiva. Their 
evolution was in South India in medieval period. 63 
Nayanars played important role in the spread of 
Shaivism. 

नयनार भगवान िशव के भƅ थे। उनका िवकास मȯकाल मŐ 
दिƗण भारत मŐ Šआ था। शैव मत के Ůसार मŐ 63 नयनारो ंने 
महȕपूणŊ भूिमका िनभाई। 

7. The report of Comptroller and Auditor General is 
presented by the president in both the houses of 
parliament. The ultimate responsibility of appropriate 
action on the works done by him is of : 

(a) Parliament 

(b) The house in which report is presented 

(c) President 

(d) Parliamentary Committee 

7. िनयंũक एवं महालेखा परीƗक की įरपोटŊ रा Ō̓ पित Ȫारा संसद 
के दोनो ंसदनो ंमŐ Ůˑुत की जाती है। उसके Ȫारा िकए गए कायŘ 
पर उिचत कारŊवाई की अंितम िजʃेदारी िनɻ मŐ से है: 

(ए) संसद 

(बी) वह सदन िजसमŐ įरपोटŊ Ůˑुत की जाती है 

(सी) रा Ō̓ पित 

(डी) संसदीय सिमित 

7. Ans– (a) 

Under article 151(1) of the constitution, report of 
Comptroller and Auditor General is presented by the 
president in both the houses of the parliament. So the 
ultimate responsibility to take action on the notings of 
comptroller and auditor general is of the parliament. 

संिवधान के अनुǅेद 151(1) के तहत, िनयंũक और महालेखा 
परीƗक की įरपोटŊ संसद के दोनो ंसदनो ंमŐ रा Ō̓ पित Ȫारा Ůˑुत 
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की जाती है। अतः  िनयंũक एवं महालेखा परीƗक की िटɔिणयो ं
पर कारŊवाई करने की अंितम िजʃेदारी संसद की है। 

8. Article 371-A of the constitution of India provides 
extraordinary privilege to whom? 

(a) Nagaland         

(b) Mizoram 

(c) Sikkim  

(d) Manipur 

8. भारत के संिवधान का अनुǅेद 371-ए िकसे असाधारण 
िवशेषािधकार Ůदान करता है? 

(ए) नागालœड 

(बी) िमजोरम 

(सी) िसİſम 

(डी) मिणपुर 

8. Ans– (a) 

Article 371-A of the constitution of India provides 
extraordinary privilege to Nagaland. 

भारत के संिवधान का अनुǅेद 371-ए नागालœड को असाधारण 
िवशेषािधकार Ůदान करता है। 

9. Which of the following commissions was constituted 
to investigate the effect of Emergency of 1975? 

(a) Sarkaria Commission 

(b) Singhvi Commission 

(c) Venkatachaliah Commission 

(d) Shah Commission 

9. 1975 के आपातकाल के Ůभाव की जांच के िलए िनɻिलİखत मŐ 
से िकस आयोग का गठन िकया गया था? 

(ए) सरकाįरया आयोग 

(बी) िसंघवी आयोग 

(सी) वŐकटचलैया आयोग 

(डी) शाह आयोग 

9. Ans– (d) 

Shah Commission was constituted to investigate the 
effect of Emergency of 1975. 

1975 के आपातकाल के Ůभाव की जांच के िलए शाह आयोग का 
गठन िकया गया था। 

10. Which of the following statements is/are incorrect? 

1. Constitutional Amendment Bill can be introduced by 
any minister or non-government member. 

2. For this bill, neither prior permission of president is 
necessary nor the provision of joint meeting. 

Code: 

(a) Only 1  

(b) Only 2 

(c) 1 and 2 Both  

(d) Neither 1 nor 2 

10. िनɻिलİखत मŐ से कौन सा/से कथन गलत है/हœ? 

1. संिवधान संशोधन िवधेयक को कोई भी मंũी या गैर सरकारी 
सद˟ पेश कर सकता है। 

2. इस िवधेयक के िलए न तो रा Ō̓ पित की पूवाŊनुमित आवʴक है 
और न ही संयुƅ बैठक का Ůावधान। 

कोड : 

(ए) केवल 1 

(बी) केवल 2 

(सी) 1 और 2 दोनो ं

(डी) न तो 1 और न ही 2 

10. Ans– (d) 

Neither of the two statements regarding constitutional 
amendment bill mentioned in the question is incorrect. 

Ůʲ मŐ उİʟİखत संिवधान संशोधन िवधेयक के संबंध मŐ दोनो ं
कथनो ंमŐ से कोई भी गलत नही ंहै। 

11. Which one of the following is not the function of 
Local Government Bodies? 

(a) Establishment of Peace 

(b) Arrangements of Education 

(c) Health and Hygiene 

(d) Registration of Birth and Death 

11. िनɻिलİखत मŐ से कौन सा ˕ानीय सरकारी िनकायो ंका कायŊ 
नही ंहै? 
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(ए) शांित की ˕ापना 

(बी) िशƗा की ʩव˕ा 

(सी) ˢा˖ और ˢǅता 

(डी) जɉ और मृȑु का पंजीकरण 

11. Ans– (a) 

Establishment of Peace is not the function of Local 
Government Bodies. It is the function of State 
Government. 

शांित की ˕ापना ˕ानीय सरकारी िनकायो ंका कायŊ नही ंहै। यह 
राǛ सरकार का काम है। 

12. Consider the following statements and choose the 
correct statements: 

1. Maximum number of provisions in the Indian 
Constitution have been taken from the Government of 
India Act-1935. 

2. Concurrent List has been adopted from the 
Constitution of Australia. 

Code: 

(a) Only 1  

(b) Only 2 

(c) 1 and 2 Both  

(d) Neither 1 nor 2 

12. िनɻिलİखत कथनो ंपर िवचार कीिजए और सही कथनो ंका 
चयन कीिजए: 

1. भारतीय संिवधान मŐ अिधकतम Ůावधान भारत सरकार 
अिधिनयम-1935 से िलए गए हœ। 

2. समवतŎ सूची को ऑ Ōː ेिलया के संिवधान से अपनाया गया है। 

कोड : 

(ए) केवल 1 

(बी) केवल 2 

(सी) 1 और 2 दोनो ं

(डी) न तो 1 और न ही 2 

12. Ans– (c) 

Both the statements mentioned in the question are 
correct. 

Ůʲ मŐ उİʟİखत दोनो ंकथन सही हœ। 

13. All India Depressed Class Association was 
established by: 

(a) Jyotiba Phule 

(b) Periyar 

(c) B.R. Ambedkar 

(d) Dayananda Saraswati 

13. अİखल भारतीय दिलत वगŊ संघ की ˕ापना िकसके Ȫारा की 
गई थी: 

(ए) Ǜोितबा फुले 

(बी) पेįरयार 

(सी) बी.आर. अɾेडकर 

(डी) दयानंद सरˢती 

13. Ans– (c) 

All India Depressed Class Association was established 
by B.R. Ambedkar in the year 1942. This association 
was related with the security of rights of Dalits. 

ऑल इंिडया िडŮे̾ड Ƒास एसोिसएशन की ˕ापना बी.आर. 
अɾेडकर ने वषŊ 1942 मŐ िकया था। यह संघ दिलतो ंके अिधकारो ं
की सुरƗा से संबंिधत था। 

14. Who among the following was the political teacher 
of Subhash Chandra Bose? 

(a) Cittaranjan Das 

(b) C. Rajgopalachari 

(c) Bal Gangadhar Tilak 

(d) Firozshah Mehta 

14. िनɻिलİखत मŐ से कौन सुभाष चंū बोस के राजनीितक िशƗक 
थे? 

(ए) िचȅरंजन दास 

(बी) सी. राजगोपालाचारी 

(सी) बाल गंगाधर ितलक 

(डी) िफरोजशाह मेहता 

14. Ans– (a) 

Cittaranjan Das was the political teacher of Subhash 
Chandra Bose. 
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िचȅरंजन दास सुभाष चंū बोस के राजनीितक गुŜ थे। 

15. Who among the following was not in three Indian 
members in ‘Hunter Committee’ to investigate 
Jallianwala Bagh Massacre? 

(a) Sir Chimanlal Setalvad 

(b) Sahebzada Sultan Ahmad 

(c) Krishna Gopal Karve 

(d) Jagat Naraian 

15. जिलयांवाला बाग हȑाकांड की जांच करने वाली 'हंटर 
कमेटी' मŐ तीन भारतीय सद˟ो ंमŐ िनɻिलİखत मŐ से कौन नही ंथा? 

(ए) सर िचमनलाल सीतलवाड़ 

(बी) साहबजादा सुʔान अहमद 

(सी) कृˁ गोपाल कवő 

(डी) जगत नारायण 

15. Ans– (c) 

In the October, 1919, government had setup a 
commission under the chairmanship of Lord Hunter to 
investigate the Jallianwala Bagh massacre. Three Indian 
members were included in it : 

1. Sir Chimanlal Sitalwad, 2. Sahebhada Sultan Ahmad, 
3. Jagat Narain. 

अƃूबर, 1919 मŐ सरकार ने जिलयांवाला बाग हȑाकांड की जांच 
के िलए लाडŊ हंटर की अȯƗता मŐ एक आयोग का गठन िकया 
था। इसमŐ तीन भारतीय सद˟ शािमल थे: 

1. सर िचमनलाल सीतलवाड़, 2. साहेभादा सुʔान अहमद, 3. 
जगत नारायण। 

16. In ‘Tuhfat-ul-Hind’, the source of 18th century, the 
huge vocabulary of which of the following languages is 
given? 

(a) Braj  

(b) Awadhi 

(c) Rajasthani  

(d) Gujarati 

16. 18वी ंशताɨी के ŷोत 'तुहफत-उल-िहंद' मŐ िनɻिलİखत मŐ से 
िकस भाषा की िवशाल शɨावली दी गई है? 

(ए) Űज 

(बी) अवधी 

(सी) राज˕ानी 

(डी) गुजराती 

16. Ans– (a) 

In ‘Tuhfat-ul-Hind’, the source of 18th century, the 
huge vocabulary of Braj languages is given. 

18वी ंशताɨी के ŷोत 'तुहफत-उल-िहंद' मŐ Űजभाषाओ ंकी 
िवशाल शɨावली दी गई है। 

17. By which party publication of “Young India” was 
started on weekly basis which was published bi-weekly 
from Mumbai? 

(a) Swaraj Party 

(b) Home rule Party 

(c) Gadar Party 

(d) Indian Independence League 

17. िकस दल Ȫारा “यंग इİǷया” का Ůकाशन साɑािहक आधार 
पर Ůारʁ िकया गया जो मुɾई से िȪ-साɑािहक Ůकािशत होता 
था? 

(ए) ˢराज पाटŎ 

(बी) होमŝल पाटŎ 

(सी) गदर पाटŎ 

(डी) इंिडयन इंिडपŐडŐस लीग 

17. Ans– (b) 

“Young India” was published bi-weekly from Mumbai. 
From May 7, 1919, it was being published as weekly 
from Ahmadabad by Jamnadas Dwarkadas and 
Shyamlal Banker, the members of Home rule Party. 

"यंग इंिडया" मंुबई से िȪ-साɑािहक Ůकािशत होता था। 7 मई, 
1919 से, यह जमनादास Ȫारकादास और ʴामलाल बœकर, 
होमŝल पाटŎ के सद˟ो ंȪारा अहमदाबाद से साɑािहक ŝप मŐ 
Ůकािशत िकया जा रहा था। 

18. Who among the following Governor Generals of 
India is considered as the maker of Modern India? 

(a) Lord Curzon  

(b) Lord Dalhousie 

(c) Lord Ripon  
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(d) Lord Lytton 

18. भारत के िनɻिलİखत गवनŊर जनरलो ंमŐ से िकसे आधुिनक 
भारत का िनमाŊता माना जाता है? 

(ए) लॉडŊ कजŊन 

(बी) लॉडŊ डलहौजी 

(सी) लॉडŊ įरपन 

(डी) लॉडŊ िलटन 

18. Ans– (b) 

Lord Dalhousie is considered as the maker of Modern 
India. 

लाडŊ डलहौजी को आधुिनक भारत का िनमाŊता माना जाता है। 

19. Which statement regarding Social and Religious 
Reforms Movement of 19th Century is incorrect? 

(a) This movement highly affected poor general class. 

(b) Because of this movement modernisation of India 
happened. 

(c) Raja Rammohan Roy is considered as father of 
these reforms and renaissance of India. 

(d) All the statements are correct. 

19. 19वी ंशताɨी के सामािजक एवं धािमŊक सुधार आȽोलन के 
सɾɀ मŐ कौन-सा कथन असȑ है ? 

(ए) इस आंदोलन ने गरीब सामाɊ वगŊ को अȑिधक Ůभािवत 
िकया। 

(बी) इस आंदोलन के कारण भारत का आधुिनकीकरण Šआ। 

(सी) राजा राममोहन राय को भारत के इन सुधारो ंऔर पुनजाŊगरण 
का जनक माना जाता है। 

(डी) सभी बयान सही हœ। 

19. Ans– (a) 

Religious Reforms Movement of 19th Century has 
affected Intellectual and Middle Class while poor 
general class remained almost unaffected from these 
movements. 

19वी ंसदी के धािमŊक सुधार आंदोलन ने बौİȠक और मȯम वगŊ 
को Ůभािवत िकया है जबिक गरीब सामाɊ वगŊ इन आंदोलनो ंसे 
लगभग अŮभािवत रहा। 

20. During the reign of whom among the following 
Governor General, ‘Policy of Masterly Inactivity’ has 
been replaced by ‘Forward Policy’? 

(a) Lord Lytton  

(b) Lord Ripon 

(c) Lord Minto  

(d) Lord Dufferin 

20. िनɻिलİखत गवनŊर जनरल मŐ से िकसके शासनकाल मŐ, 
'माːरली इनएİƃिवटी की नीित' को 'फॉरवडŊ पॉिलसी' Ȫारा 
Ůित˕ािपत िकया गया है? 

(ए) लॉडŊ िलटन 

(बी) लॉडŊ įरपन 

(सी) लॉडŊ िमंटो 

(डी) लॉडŊ डफįरन 

20. Ans– (a) 

In 1876 AD, Lord Lytton was appointed as Viceroy of 
India. He adopted the ‘Forward Policy’ in place of 
‘Policy of Masterly Inactivity’ towards Afghanistan. 

1876 ई. मŐ लाडŊ िलटन को भारत का वायसराय िनयुƅ िकया 
गया। उɎोनें अफगािनˑान के Ůित 'माːरली इनएİƃिवटी की 
नीित' के ˕ान पर 'फॉरवडŊ पॉिलसी' अपनाई। 

21. Which one of the following was the last among the 
merged territories under Lord Dalhousie’s Doctrine of 
Lapse? 

(a) Karauli  

(b) Nagpur 

(c) Jhansi  

(d) Udaipur 

21. लॉडŊ डलहौजी के ʩपगत के िसȠांत के तहत िवलय िकए गए 
Ůदेशो ंमŐ िनɻिलİखत मŐ से कौन सा अंितम था? 

(ए) करौली 

(बी) नागपुर 

(सी) झांसी 

(डी) उदयपुर 

21. Ans– (a) 
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The correct order of territories merged under Lord 
Dalhousie’s Doctrine of Lapse is: Satara (1848), Jaitpur 
and Sambhalpur (1849), Udaipur (1852), Jhansi (1853), 
Nagpur (1854), Karauli (1855). 

लॉडŊ डलहौजी के ʩपगत िसȠांत के तहत िवलय िकए गए Ůदेशो ं
का सही Ţम है: सतारा (1848), जैतपुर और संभलपुर (1849), 
उदयपुर (1852), झांसी (1853), नागपुर (1854), करौली (1855)। 

22. Consider the following statements: 

1. Surendra Nath Banerjee had established Indian 
Association in 1876 AD at Calcutta. 

2. In this organization, the middle class was given 
primacy in place of the landlord. 

Choose the correct statements: 

(a) Only 1  

(b) Only 2 

(c) 1 and 2 both  

(d) None of these 

22. िनɻिलİखत कथनो ंपर िवचार कीिजएः  

1. सुरेȾ नाथ बनजŎ ने 1876 ई. मŐ कलकȅा मŐ इंिडयन 
एसोिसएशन की ˕ापना की थी। 

2. इस संगठन मŐ जमीदंार के ˕ान पर मȯम वगŊ को Ůधानता दी 
जाती थी। 

सही कथनो ंका चयन करŐ : 

(ए) केवल 1 

(बी) केवल 2 

(सी) 1 और 2 दोनो ं

(डी) इनमŐ से कोई नही ं

22. Ans– (c) 

Both the statements mentioned in the question are 
correct. 

Ůʲ मŐ उİʟİखत दोनो ंकथन सही हœ। 

23. Which of the following pairs is not correctly 
matched? 

(Leader)                             (Revolt) 

(a) Motilal Tejawat –       Chenchu revolt 

(b) Rani Gaidinliu –          Naga revolt 

(c) Majnu Shah –             Saint rebellion 

(d) Chirag Ali –                 Rampa rebellion 

23. िनɻिलİखत मŐ से कौन सा जोड़ा सही ढंग से मेल नही ंखाता 
है? 

(नेता)                                    (िवūोह) 

(ए) मोतीलाल तेजावत -         चŐचू िवūोह 

(बी रानी गाइिद̢ʞू -             नागा िवūोह 

(सी) मजनू शाह -                  संत िवūोह 

(डी) िचराग अली -                 रंपा िवūोह 

23. Ans– (d) 

Alluri Sitaramaraju was the leader of Rampa Rebellion. 
All others are correctly matched. 

अʟूरी सीतारामाराजू रɼा िवūोह के नेता थे। अɊ सभी सही 
सुमेिलत हœ। 

24. To suppress which one of the following movements 
'Cunningham Circular' was issued by the British Govt. 
in Assam? 

(a) Non-cooperation movement 

(b) Civil Disobedience Movement 

(c) Ahmedabad Mill Movements 

(d) Champaran Satyagraha 

24. िनɻिलİखत मŐ से िकस आंदोलन को दबाने के िलए िŰिटश 
सरकार Ȫारा 'किनंघम सकुŊ लर' जारी िकया गया था? असम मŐ? 

(ए) असहयोग आंदोलन 

(बी) सिवनय अवǒा आंदोलन 

(सी) अहमदाबाद िमल आंदोलन 

(डी) चंपारण सȑाŤह 

24. Ans– (b) 

Civil Disobedience Movement was started by Mahatma 
Gandhi in the year 1930. To stop the active 
participation of students in this movement 
'Cunningham Circular' was issued in Assam. In the 
protest of which a movement was run by the students.  

सिवनय अवǒा आंदोलन महाȏा गांधी Ȫारा वषŊ 1930 मŐ शुŝ 
िकया गया था। इस आंदोलन मŐ छाũो ंकी सिŢय भागीदारी को 
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रोकने के िलए असम मŐ 'किनंघम सकुŊ लर' जारी िकया गया था। 
िजसके िवरोध मŐ छाũो ंȪारा आंदोलन चलाया गया। 

25. In Simla Conference organised by Viceroy Wavell in 
the year 1945, Who among the followings headed the 
Congress Delegation? 

(a) Jawahar Lal Nehru 

(b) Sardar Vallabh Bhai Patel 

(c) Abul Kalam Azad 

(d) Mahatma Gandhi 

25. वषŊ 1945 मŐ वायसराय वावेल Ȫारा आयोिजत िशमला 
सʃेलन मŐ, िनɻिलİखत मŐ से िकसने कांŤेस Ůितिनिधमंडल का 
नेतृȕ िकया?  

(ए) जवाहर लाल नेहŝ 

(बी) सरदार वʟभ भाई पटेल 

(सी) अबुल कलाम आजाद 

(डी) महाȏा गांधी 

25. Ans– (c) 

In Shimla Conference organised by Viceroy Lord Wavell 
in the year 1945, Abul Kalam Azad headed the 
Congress Deligation. 

वषŊ 1945 मŐ वायसराय लॉडŊ वावेल Ȫारा आयोिजत िशमला 
सʃेलन मŐ अबुल कलाम आज़ाद ने कांŤेस Ůितिनिधमंडल का 
नेतृȕ िकया। 

26. From where, the concept of ‘Free Kitchen’ (Langar) 
was adopted by the Sikhs? 

(a) Hindu Temples 

(b) Churches 

(c) Sufi Dargahas 

(d) Monasteries of Shankaracharya 

26. िसƀो ंने 'मु˹ रसोई' (लंगर) की अवधारणा कहाँ से 
अपनाई? 

(ए) िहंदू मंिदर 

(बी) चचŊ 

(सी) सूफी दरगाह 

(डी) शंकराचायŊ के मठ 

26. Ans– (d) 

‘Free Kitchen’ (Langar) was started during the period of 
Guru Nanak. This concept has been taken from 
Monasteries of Shankaracharya. 

गुŜ नानक के काल मŐ 'ůी िकचन' (लंगर) की शुŜआत Šई थी। 
यह अवधारणा शंकराचायŊ के मठो ंसे ली गई है। 

27. Which of the following statements regarding ‘White 
Mutiny’ is/are correct? 

1. This was the incident of Clive’s period. 

2. British soldiers of Munger and Allahabad revolted 
because of payment of less allowances. 

Code: 

(a) Only 1  

(b) Only 2 

(c) 1 and 2 both  

(d) Neither 1 nor 2 

27. 'ʷेत िवūोह' के संबंध मŐ िनɻिलİखत मŐ से कौन सा/से कथन 
सही है/हœ? 

1. यह Ƒाइव के काल की घटना थी। 

2. मंुगेर और इलाहाबाद के िŰिटश सैिनको ंने कम भȅो ंके 
भुगतान के कारण िवūोह कर िदया। 

कोड : 

(ए) केवल 1 

(बी) केवल 2 

(सी) 1 और 2 दोनो ं

(डी) न तो 1 और न ही 2 

27. Ans– (c) 

Both the statements regarding White Mutiny 
mentioned in the question are correct. 

Ůʲ मŐ उİʟİखत ʷेत िवūोह के संबंध मŐ दोनो ंकथन सही हœ। 

28. A.O. Hume was the chairman of which Session of 
Congress? 

(a) Bombay Session 1885 

(b) Bankipur Session 1912 

(c) Madras Session 1887 

(d) None of these 
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28. ए.ओ. ह्यूम कांŤेस के िकस अिधवेशन के अȯƗ थे? 

(ए) बॉɾे सũ 1885 

(बी) बांकीपुर सũ 1912 

(सी) मūास सũ 1887 

(डी) इनमŐ से कोई नही ं

28. Ans– (d) 

Allan Octavian Hume was the retired British Officer of 
Indian Civil Services. He had set up Indian National 
Congress in the year 1885. He was the first General 
Secretary of it. He was never the president of Congress. 

एलन ऑƃेिवयन ह्यूम भारतीय िसिवल सेवा के सेवािनवृȅ 
िŰिटश अिधकारी थे। उɎोनें वषŊ 1885 मŐ भारतीय रा Ō̓ ीय कांŤेस 
की ˕ापना की थी। वे इसके पहले महासिचव थे। वह कभी कांŤेस 
के अȯƗ नही ंरहे। 

29. Consider the following statements: 

1. Hoogly is the tributary of river Damodar. 

2. Damodar Valley Project is the first multi-purpose 
project of India. 

3. Obra dam is situated over this river. 

Code: 

(a) 1 and 2  

(b) 2 and 3 

(c) 1 and 3  

(d) All of the above 

29. िनɻिलİखत कथनो ंपर िवचार कीिजएः  

1. Šगली दामोदर नदी की सहायक नदी है। 

2. दामोदर घाटी पįरयोजना भारत की Ůथम बŠउȞेʴीय 
पįरयोजना है। 

3. ओबरा बांध इस नदी के ऊपर İ˕त है। 

कोड : 

(ए) 1 और 2 

(बी) 2 और 3 

(सी) 1 और 3 

(डी) उपरोƅ सभी 

29. Ans– (a) 

Obra dam is situated over river Rihand. All other 
statements are correct. 

ओबरा बांध įरहंद नदी पर İ˕त है। अɊ सभी कथन सही हœ। 

30. Which of the following Noble gases is not found in 
the air? 

(a) Helium  

(b) Argon 

(c) Radon  

(d) Neon 

30. िनɻिलİखत मŐ से कौन-सी उǽृʼ गैस वायु मŐ नही ंपाई जाती 
है? 

(ए) हीिलयम 

(बी) आगŊन 

(सी) रेडॉन 

(डी) िनयॉन 

30. Ans– (c) 

Helium, Argon, Radon and Neon are noble gases. Out 
of these Radon gas is not present in the air. 

हीिलयम, आगŊन, रेडॉन और िनयॉन नोबल गैसŐ हœ। इनमŐ से रेडॉन 
गैस हवा मŐ मौजूद नही ंहै। 

31. Which of the following is/are the Ozone Depletion 
substances? 

1. Chlorofluoro Carbon 

2. Halons 

3. Carbon Tetra Chloride 

Code: 

(a) 1 and 3  

(b) 2 and 3 

(c) 1 and 2  

(d) All of the above 

31. िनɻिलİखत मŐ से कौन-सा/से ओजोन Ɨयकारी पदाथŊ है/हœ ? 

1. Ƒोरोɢोरो काबŊन 

2. हैलोɌ 

3. काबŊन टेटŌ ा Ƒोराइड 
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कोड : 

(ए) 1 और 3 

(बी) 2 और 3 

(सी) 1 और 2 

(डी) उपरोƅ सभी 

31. Ans– (d) 

All mentioned in the question are Ozone Depletion 
Substances. 

Ůʲ मŐ उİʟİखत सभी ओजोन įरƅीकरण पदाथŊ हœ। 

32. The extension of which one of the following 
mountains is at the borders of France and Switzerland? 

(a) Apennine  

(b) Mount Titlis 

(c) Jura Mountain  

(d) Andes 

32. िनɻिलİखत मŐ से िकस एक पवŊत का िवˑार ůांस और 
İˢट्जरलœड की सीमाओ ंपर है? 

(ए) एिपनेन 

(बी) माउंट िटट्िलस 

(सी) जुरा पवŊत 

(डी) एंडीज 

32. Ans– (c) 

The extension of Jura Mountain is at the borders of 
France and Switzerland. 

जुरा पवŊत का िवˑार ůांस और İˢट्जरलœड की सीमा पर है। 

33. Which of the following pairs is not correctly 
matched? 

(a) CLW – Chittaranjan 

(b) DLW – Varanasi 

(c) ICF – Chennai 

(d) RWF – Kapoorthala 

33. िनɻिलİखत मŐ से कौन सा जोड़ा सही ढंग से मेल नही ंखाता 
है? 

(ए) सीएलडɲू - िचȅरंजन 

(बी) डीएलडɲू - वाराणसी 

(सी) आईसीएफ - चेɄई 

(डी) आरडɲूएफ – कपूरथला 

33. Ans– (d) 

R.W.F. (Rail Wheel Factory) is situated at Yelehanka, 
Bengaluru. All others are correctly matched. 

आरडɲूएफ (रेल ʬील फैƃŌ ी) येलहंका, बŐगलुŜ मŐ İ˕त है। 
अɊ सभी सही सुमेिलत हœ। 

34. Which of the following pairs is not correctly 
matched? 

(a) Land of Morning Calm – Korea 

(b) Queen of Adriatic Sea – Rome 

(c) Mining Ghost Town – Coolgardie 

(d) Maximum Salinity – Van Lake 

34. िनɻिलİखत मŐ से कौन सा जोड़ा सही ढंग से मेल नही ंखाता 
है? 

(ए) मॉिनōग कैलम की भूिम - कोįरया 

(बी) एिडŌ यािटक सागर की रानी - रोम 

(सी) माइिनंग घोː टाउन - कूलगाडŎ 

(डी) अिधकतम लवणता - वैन झील 

34. Ans– (b) 

Venice city of Italy is known as ‘Queen of Adriatic Sea’. 
All other pairs are correctly matched. 

इटली के वेिनस शहर को 'एिडŌ यािटक सागर की रानी' के नाम से 
जाना जाता है। अɊ सभी युƵ सही सुमेिलत हœ। 

35. Through which pass of the sahyadri mountain 
range 'Mumbai-Nagpur-Kolkata' Rail route passes? 

(a) Palaghat  

(b) Bhorghat 

(c) Thaalghat  

(d) Shencottah Gap 

35. स˨ाūी पवŊत ŵंखला के िकस दरő  से 'मंुबई-नागपुर-
कोलकाता' रेल मागŊ गुजरता है ? 

(ए) पालाघाट 

(बी) भोरघाट 
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(सी) थालघाट 

(डी) शेनकोǥा गैप 

35. Ans– (c) 

'Mumbai-Nagpur-Kolkata' Rail route passes through 
Thaalghat Pass of the Sahyadri mountain range. 

'मंुबई-नागपुर-कोलकाता' रेल मागŊ स˨ाūी पवŊत ŵंृखला के 
थालघाट दरő  से होकर गुजरता है। 

36. Which of the following statements regarding 
‘longitude’ is/are correct? 

1. Their length is equal. 

2. The local time of all the places situated at a 
longitude is same. 

Code: 

(a) Only 1  

(b) Only 2 

(c) 1 and 2 Both  

(d) Neither 1 nor 2 

36. 'देशांतर' के संबंध मŐ िनɻिलİखत मŐ से कौन सा/से कथन सही 
है/हœ? 

1. इनकी लɾाई बराबर होती है। 

2. देशांतर पर İ˕त सभी ˕ानो ंका ˕ानीय समय समान होता 
है। 

कोड : 

(ए) केवल 1 

(बी) केवल 2 

(सी) 1 और 2 दोनो ं

(डी) न तो 1 और न ही 2 

36. Ans– (c) 

Both the statements regarding ‘Longitude’ mentioned 
in the question are correct. 

Ůʲ मŐ उİʟİखत 'देशांतर' के संबंध मŐ दोनो ंकथन सही हœ। 

37. Which one of the following pairs is not correctly 
matched? 

(Rock): (Metamorphic rock) 

(a) Granite: Niece 

(b) Grabo: Serpentinite 

(c) Besalt: Schist 

(d) Sandstone: Slate 

37. िनɻिलİखत मŐ से कौन सा युƵ सही सुमेिलत नही ंहै? 

(रॉक) : (कायांतįरत चǥान) 

(ए) Ťेनाइट: नीस 

(बी) Ťेबो : सपŒिटनाईट 

(सी) बेसाʐ : िशː 

(डी) बलुआ पȈर: ˠेट 

37. Ans– (d) 

Quartzite is formed by the metamorphosis of 
Sandstone, not slate. 

बलुआ पȈर के कायांतरण से ƓाटŊजाइट का िनमाŊण होता है, 
ˠेट से नही।ं 

38. In the formation of Peninsular India the correct 
order of ancient to new rocks is : 

(a) Kudappa-Dharwad-Gondwana-Vindhya 

(b) Dharwad-Kudappa-Gondwana-Vindhya 

(c) Vindhya-Gondwana-Dharwad-Kudappa 

(d) Dharwad-Kudappa-Vindhya-Gondwana 

38. ŮायȪीपीय भारत के िनमाŊण मŐ Ůाचीन से नवीन शैलो ंका सही 
Ţम है : 

(ए) कुडɔा-धारवाड़-गोडंवाना-िवंȯ 

(बी) धारवाड़-कुडɔा-गोडंवाना-िवंȯ 

(सी) िवंȯ-गोडंवाना-धारवाड़-कुडɔा 

(डी) धारवाड़-कुडɔा-िवंȯ-गोडंवाना 

38. Ans– (d) 

In the formation of Peninsular India, the correct order 
of ancient to new rocks is: Dharwad-Kudappa-Vindhya-
Gondwana. 

ŮायȪीपीय भारत के िनमाŊण मŐ Ůाचीन से नवीन चǥानो ंका सही 
Ţम है : धारवाड़-कुडɔा-िवंȯ-गोडंवाना। 

39. Which of the following cities is not a capital of any 
country? 

(a) Nicosia  
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(b) Port Louis 

(c) Bern  

(d) Christchurch 

39. िनɻिलİखत मŐ से कौन-सा शहर िकसी भी देश की राजधानी 
नही ंहै? 

(ए) िनकोिसया 

(बी) पोटŊ लुइस 

(सी) बनŊ 

(डी) ŢाइːचचŊ 

39. Ans– (d) 

Christchurch is a city of New Zealand. Capital of New 
Zealand is Wellington. 

Cyprus – Nicosia 

Mauritius – Port Louis 

Switzerland – Bern 

ŢाइːचचŊ Ɋूजीलœड का एक शहर है। Ɋूजीलœड की राजधानी 
वेिलंगटन है। 

साइŮस - िनकोिसया 

मॉरीशस - पोटŊ लुइस 

İˢट्जरलœड - बनŊ 

40. Choose the correct statements from the following: 

1. The height of Western Ghats increases from north to 
south. 

2. The highest peak of Eastern Ghats is Jindhagada. 

Code: 

(a) Only 1  

(b) Only 2 

(c) 1 and 2 both  

(d) None of these 

40. िनɻिलİखत मŐ से सही कथनो ंका चयन कीिजए: 

1. पिʮमी घाट की ऊँचाई उȅर से दिƗण की ओर बढ़ती है। 

2. पूवŎ घाट की सबसे ऊँची चोटी िजंदगड़ा है। 

कोड : 

(ए) केवल 1 

(बी) केवल 2 

(सी) 1 और 2 दोनो ं

(डी) इनमŐ से कोई नही ं

40. Ans– (b) 

The height of Western Ghats decreases from north to 
south, which is a continuous series. The highest peak of 
Eastern Ghats is Jindhagada (1690 m.) Second highest 
peak is Arma Yoma (1680 m.). 

पिʮमी घाट की ऊंचाई उȅर से दिƗण की ओर घटती जाती है, जो 
एक सतत ŵंृखला है। पूवŎ घाट की सबसे ऊँची चोटी िजंदगड़ा 
(1690 मीटर) है। दूसरी सबसे ऊँची चोटी अरमा योमा (1680 
मीटर) है। 

41. Which of the following seas is situated in the east 
most? 

(a) Aral Sea 

(b) Caspian Sea 

(c) Mediterranean Sea 

(d) Black Sea 

41. िनɻिलİखत मŐ से कौन-सा समुū सबसे पूवŊ मŐ İ˕त है? 

(ए) अरल सागर 

(बी) कैİ˙यन सागर 

(सी) भूमȯ सागर 

(डी) काला सागर 

41. Ans– (a) 

Main lake of Central Asia is Aral Sea. It touches the 
boundaries of Kazakhstan and Uzbekistan. In the 
options mentioned in the question, the correct order 
of seas from West to East is Mediterranean Sea, Black 
Sea, Caspian Sea, Aral Sea. 

मȯ एिशया की मुƥ झील अरल सागर है। यह कजािकˑान 
और उǙेिकˑान की सीमाओ ंको छूता है। Ůʲ मŐ िदए गए 
िवकʙो ंमŐ पिʮम से पूवŊ की ओर समुūो ंका सही Ţम भूमȯ 
सागर, काला सागर, कैİ˙यन सागर, अरल सागर है। 

42. Consider the following statements and choose the 
correct answer with the help of the codes given below: 
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Statement (A): All longitude lines are called Great 
Circles. 

Reason (R): All longitude lines divide earth in equal 
parts. 

Code: 

(a) Both (A) and (R) are correct, (R) is the correct 
explanation of (A). 

(b) Both (A) and (R) are correct but (R) is not the 
correct explanation of (A). 

(c) (A) is correct but (R) is incorrect. 

(d) (A) is incorrect but (R) is correct. 

42. िनɻिलİखत कथनो ंपर िवचार कीिजए और नीचे िदए गए कूट 
की सहायता से सही उȅर चुिनए: 

कथन (A) : सभी देशांतर रेखाओ ंको वृहत वृȅ कहते हœ। 

कारण (R) : सभी देशांतर रेखाएँ पृțी को समान भागो ंमŐ 
िवभािजत करती हœ। 

कोड: 

(ए) दोनो ं(ए) और (आर) सही हœ, (आर) (ए) का सही ˙ʼीकरण 
है। 

(बी) दोनो ं(ए) और (आर) सही हœ लेिकन (आर) (ए) का सही 
˙ʼीकरण नही ंहै। 

(सी) (ए) सही है लेिकन (आर) गलत है। 

(डी) (ए) गलत है लेिकन (आर) सही है। 

42. Ans– (a) 

Assertion (A) and Reason (R) both are correct but 
Reason (R) is the correct explanation of Assertion (A). 

कथन (A) और कारण (R) दोनो ंसही हœ लेिकन कारण (R), कथन 
(A) की सही ʩाƥा है। 

43. Which of the following ports of India is an example 
of external port? 

(a) Haldia 

(b) Vishakhapatanam 

(c) Chennai 

(d) Kochi 

43. भारत का िनɻिलİखत मŐ से कौन सा बंदरगाह बाहरी बंदरगाह 
का उदाहरण है? 

(ए) हİʗया 

(बी) िवशाखापȅनम 

(सी) चेɄई 

(डी) कोİǄ 

43. Ans– (a) 

Haldia situated nearly 90 km. apart from Kolkata is an 
specific example of external port. 

हİʗया लगभग 90 िकमी. कोलकाता के अलावा बाहरी बंदरगाह 
का एक िविशʼ उदाहरण है। 

44. Match List-I with List-II and choose the correct 
answer with the help of given codes: 

List-I                               List-II 

(Biosphere Reserve)      (Situated at) 

A) Nokrek                      1. Odisha 

B) Cold Desert               2. Meghalaya 

C) Dihang                      3. Arunachal Pradesh 

D) Simlipal                     4. Himachal Pradesh 

Code: 

    A B C D 

(a) 2 4 3 1 

(b) 2 3 4 1 

(c) 4 3 2 1 

(d) 2 3 1 4 

44. सूची-I को सूची-II से सुमेिलत कीिजए और िदए गए कूट की 
सहायता से सही उȅर चुिनए: 

सूची-I                          सूची-II 

(बायो˛ीयर įरजवŊ)       (यहां İ˕त) 

A) नोकरेक           1. ओिडशा 

B) शीत मŜ˕ल             2. मेघालय 

C) िदहांग                       3. अŜणाचल Ůदेश 

D) िसमलीपाल                4. िहमाचल Ůदेश 

कोड: 

    ऐ बी सी डी 
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(ए) 2 4 3 1 

(बी) 2 3 4 1 

(सी) 4 3 2 1 

(डी) 2 3 1 4 

44. Ans– (a) 

The correct match is: 

(Biosphere Reserve) (Situated at) 

Nokrek – Meghalaya 

Cold Desert – Himachal Pradesh 

Dihang – Arunachal Pradesh 

Simlipal – Odisha 

सही सुमेल है: 

(बायो˛ीयर įरजवŊ) (यहां İ˕त) 

नोकरेक - मेघालय 

शीत मŜ˕ल - िहमाचल Ůदेश 

िदहांग - अŜणाचल Ůदेश 

िसमलीपाल - उड़ीसा 

45. Consider the following: 

1. South Sudan  

2. Swaziland 

3. Gabon 

Which of the above is/are landlocked countries of 
Africa? 

(a) 1 and 3  

(b) 2 and 3 

(c) 1 and 2  

(d) Only 3 

45. िनɻिलİखत पर िवचार कीिजए: 

1. दिƗण सूडान 

2. ˢाजीलœड 

3. गैबॉन 

उपयुŊƅ मŐ से कौन-सा/से अůीका का/के देश है/हœ? 

(ए) 1 और 3 

(बी) 2 और 3 

(सी) 1 और 2 

(डी) केवल 3 

45. Ans– (c) 

South Sudan and Swaziland are landlocked countries 
of Africa. 

दिƗण सूडान और ˢाजीलœड अůीका के ˕लŜȠ देश हœ। 

46. Which one of the following is not correctly 
matched? 

(a) Zonda – Argentina 

(b) Mystral – Gulf of Lyons 

(c) Brick Fielder – Australia 

(d) Norwester – Venezuella 

46. िनɻिलİखत मŐ से कौन सा सुमेिलत नही ंहै? 

(ए) ज़ोडंा - अजŒटीना 

(बी) िम Ōː ल - िलयोन की खाड़ी 

(c) िŰक फीʒर - ऑ Ōː ेिलया 

(डी) नॉवőːर – वेनेज़ुएला 

46. Ans– (d) 

The correct match is: 

Zonda – Argentina 

Mystral – Gulf of Lyons 

Brick Fielder – Australia 

Norwester – North New Zealand 

सही सुमेल है: 

ज़ोडंा - अजŒटीना 

िम Ōː ल - िलयोन की खाड़ी 

िŰक फीʒर - ऑ Ōː ेिलया 

नॉवőːर - उȅरी Ɋूजीलœड 

47. Which one of the following pairs is not correctly 
matched? 

(Project)                (River) 
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(a) Chamera –       Rabi 

(b) Salal –              Chinab 

(c) Pong –              Sutlej 

(d) Uri –                 Jhelam 

47. िनɻिलİखत मŐ से कौन-सा युƵ सही सुमेिलत नही ंहै? 

(पįरयोजना)            (नदी) 

(ए) चमेरा -             रबी 

(बी) सलाल-            िचनाब 

(सी) पोगं-               सतलज 

(डी) उरी-               झेलम 

47. Ans– (c) 

Pong Project is situated over river Vyas. This is situated 
in Himachal Pradesh. All others are correctly matched. 

पोगं पįरयोजना ʩास नदी पर İ˕त है। यह िहमाचल Ůदेश मŐ 
İ˕त है। अɊ सभी सही सुमेिलत हœ। 

48. Temperate grassland found in Eurasia region is 
called- 

(a) Prairies  

(b) Steppi 

(c) Weld  

(d) Downs 

48. यूरेिशया Ɨेũ मŐ पाए जाने वाले शीतोˁ घास के मैदान को 
कहते हœ- 

(ए) Ůेयरीज 

(बी) ːेपी 

(सी) वेʒ 

(डी) डाउन 

48. Ans– (b) 

Steppes is a temperate grassland found in the Eurasia 
region. 

ːेपीज़ एक शीतोˁ घास का मैदान है जो यूरेिशया Ɨेũ मŐ पाया 
जाता है। 

49. Consider the following statements: 

1. Art. 312 of the Constitution empowers the 
Parliament to constitute a new All India Service on the 
basis of a resolution of the Rajya Sabha. 

2. Chairman and members of State Public Service 
Commission can be removed by President only. 

Code: 

(a) Only 1  

(b) Only 2 

(c) 1 and 2 both  

(d) Neither 1, nor 2 

49. िनɻिलİखत कथनो ंपर िवचार कीिजएः  

1. संिवधान का अनुǅेद 312 संसद को राǛ सभा के एक 
संकʙ के आधार पर एक नई अİखल भारतीय सेवा गिठत करने 
का अिधकार देता है। 

2. राǛ लोक सेवा आयोग के अȯƗ और सद˟ो ंको रा Ō̓ पित 
Ȫारा ही हटाया जा सकता है। 

कोड : 

(ए) केवल 1 

(बी) केवल 2 

(सी) 1 और 2 दोनो ं

(डी) न तो 1, न ही 2 

49. Ans– (c) 

Like any other union, the public services of the centre 
and the states are divided. Both the statements 
mentioned in the question regarding it are correct. 

िकसी भी अɊ संघ की तरह, कŐ ū और राǛो ंकी सावŊजिनक 
सेवाएँ िवभािजत हœ। इससे संबंिधत Ůʲ मŐ उİʟİखत दोनो ंकथन 
सही हœ। 

50. Consider the following statements and choose the 
correct answer with the help of the codes given below: 

Statement (A): An integrated judicial system has been 
established by the constitution. 

Reason (R): This system has been adopted to eliminate 
mutual conflict and confusion between centre and the 
states. 

Code: 
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(a) Both (A) and (R) are correct, (R) is the correct 
explanation of (A). 

(b) Both (A) and (R) are correct but (R) is not the 
correct explanation of (A). 

(c) (A) is correct but (R) is incorrect. 

(d) (A) is incorrect but (R) is correct. 

50. िनɻिलİखत कथनो ंपर िवचार कीिजए और नीचे िदए गए कूट 
की सहायता से सही उȅर चुिनए: 

कथन (ए): संिवधान Ȫारा एक एकीकृत Ɋाियक Ůणाली ˕ािपत 
की गई है। 

कारण (R) : कŐ ū और राǛो ंके बीच आपसी संघषŊ और űम को 
खȏ करने के िलए इस Ůणाली को अपनाया गया है। 

कोड: 

(ए) दोनो ं(ए) और (आर) सही हœ, (आर) (ए) का सही ˙ʼीकरण 
है। 

(बी) दोनो ं(ए) और (आर) सही हœ लेिकन (आर) (ए) का सही 
˙ʼीकरण नही ंहै। 

(सी) (ए) सही है लेिकन (आर) गलत है। 

(डी) (ए) गलत है लेिकन (आर) सही है। 

50. Ans– (a) 

Assertion (A) and Reason (R) both are correct and 
Reason (R) is the correct explanation of the Assertion 
(A). 

कथन (A) और कारण (R) दोनो ंसही हœ और कारण (R), कथन 
(A) की सही ʩाƥा है। 

51. Which one of the following is/are included in the 
Federal Political System? 

1. Relation between Union and States 

2. System for coordination 

3. System for resolving disputes 

Code: 

(a) 1 and 2  

(b) 2 and 3 

(c) 1 and 3  

(d) All of the above 

51. िनɻिलİखत मŐ से कौन-सा/से संघीय राजनीितक ʩव˕ा मŐ 
शािमल है/हœ? 

1. संघ और राǛो ंके बीच संबंध 

2. समɋय के िलए Ůणाली 

3. िववादो ंको सुलझाने की Ůणाली 

कोड : 

(ए) 1 और 2  

(बी) 2 और 3 

(सी) 1 और 3  

(डी) उपरोƅ सभी 

51. Ans– (d) 

All mentioned in the question are included in the 
federal political system. 

Ůʲ मŐ उİʟİखत सभी संघीय राजनीितक Ůणाली मŐ शािमल हœ। 

52. A resolution passed by the Rajya Sabha under 
Article 249 will remain in force for the period of: 

(a) Six Months  

(b) One Year 

(c) Three Years  

(d) Six Years 

52. अनुǅेद 249 के अधीन राǛ सभा Ȫारा पाįरत संकʙ 
िकतने समय तक Ůभावी रहेगा: 

(ए) छह महीने 

(बी) एक वषŊ 

(सी) तीन साल 

(डी) छह साल 

52. Ans– (b) 

Article 249 of the Indian Constitution is related with 
the legislative power of the Parliament with respect to 
the subjects of State List. A resolution passed by the 
Rajya Sabha under Article 249 will remain in force for 
one year. 

भारतीय संिवधान का अनुǅेद 249 राǛ सूची के िवषयो ंके संबंध 
मŐ संसद की िवधायी शİƅ से संबंिधत है। अनुǅेद 249 के तहत 
राǛ सभा Ȫारा पाįरत एक Ůˑाव एक वषŊ के िलए लागू रहेगा। 
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53. Which of the following statements regarding 
“Preventive Detention” is/are correct? 

1. Its objective is to prevent any person from 
committing crime. 

2. Under it, govt. can arrest any person under custody 
only for four months, 

Code: 

(a) Only 1  

(b) Only 2 

(c) 1 and 2 both  

(d) Neither 1 nor 2 

53. "िनवारक िहरासत" के संबंध मŐ िनɻिलİखत मŐ से कौन सा/से 
कथन सही है/हœ? 

1. इसका उȞेʴ िकसी भी ʩİƅ को अपराध करने से रोकना है। 

2. इसके तहत, सरकार। िकसी भी ʩİƅ को केवल चार महीने 
की िहरासत मŐ िगरɞार कर सकता है, 

कोड : 

(ए) केवल 1 

(बी) केवल 2 

(सी) 1 और 2 दोनो ं

(डी) न तो 1 और न ही 2 

53. Ans– (a) 

– Article 22, Part (4) to (7) are regarding Preventive 
Detention. Under Preventive Detention Law any person 
is arrested before committing crime. The objective of it 
is to prevent any person from committing crime. 

– Under it, government can detain any person in 
custody only for three months. 

- अनुǅेद 22, भाग (4) से (7) िनवारक िनरोध के संबंध मŐ हœ। 
िनवारक िनरोध कानून के तहत िकसी भी ʩİƅ को अपराध 
करने से पहले िगरɞार िकया जाता है। इसका उȞेʴ िकसी भी 
ʩİƅ को अपराध करने से रोकना है। 

- इसके तहत सरकार िकसी भी ʩİƅ को केवल तीन महीने तक 
ही िहरासत मŐ रख सकती है। 

54. Which of the following statements is/are correct? 

1. Rajya Sabha can amend Money Bill but can’t reject it. 

2. Voting on Demand of Grants takes place in both of 
the houses. 

Code: 

(a) Only 1  

(b) Only 2 

(c) 1 and 2 both  

(d) Neither 1 nor 2 

54. िनɻिलİखत मŐ से कौन सा/से कथन सही है/हœ? 

1. राǛ सभा धन िवधेयक मŐ संशोधन कर सकती है लेिकन उसे 
अˢीकार नही ंकर सकती है। 

2. दोनो ंसदनो ंमŐ अनुदान की मांग पर मतदान होता है। 

कोड : 

(ए) केवल 1 

(बी) केवल 2 

(सी) 1 और 2 दोनो ं

(डी) न तो 1 और न ही 2 

54. Ans– (d) 

Rajya Sabha returns Money Bill with its 
recommendations to the Lok Sabha within 14 days but 
Lok Sabha is free to accept or reject any 
recommendation. If Rajya Sabha does not returns the 
money bill to Lok Sabha within 14 days then it will be 
considered by both the houses in the same form. So 
Rajya Sabha has no powers to amend or reject money 
bill. According to article 113(2), demand of grants will 
be presented in Lok Sabha and it has rights to vote on 
that, not to Rajya Sabha. 

राǛसभा 14 िदनो ंके भीतर अपनी िसफाįरशो ंके साथ लोकसभा 
को धन िवधेयक लौटाती है लेिकन लोकसभा िकसी भी िसफाįरश 
को ˢीकार या अˢीकार करने के िलए ˢतंũ है। यिद राǛसभा 
14 िदनो ंके भीतर धन िवधेयक को लोकसभा को वापस नही ं
करती है तो दोनो ंसदनो ंȪारा एक ही ŝप मŐ इस पर िवचार िकया 
जाएगा। इसिलए राǛसभा के पास धन िवधेयक मŐ संशोधन या 
अˢीकार करने की कोई शİƅ नही ंहै। अनुǅेद 113(2) के 
अनुसार अनुदान की मांग लोक सभा मŐ Ůˑुत की जायेगी और 
उसे उस पर मत देने का अिधकार है, राǛ सभा को नही।ं 

55. In India Patent Act was firstly passed in the year: 

(a) 1970  

(b) 1972 
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(c) 1982  

(d) 1980 

55. भारत मŐ पेटŐट अिधिनयम सबसे पहले िकस वषŊ मŐ पाįरत 
िकया गया था: 

(ए) 1970 

(बी) 1972 

(सी) 1982 

(डी) 1980 

55. Ans– (a) 

Patent is a legal right, after getting this, the person or 
the organisation which invent or make the product 
then it gets sole rights for manufacturing the product. 

पेटŐट एक कानूनी अिधकार है, इसे Ůाɑ करने के बाद, जो ʩİƅ 
या सं˕ा उȋाद का आिवʺार या िनमाŊण करती है, उसे उȋाद 
के िनमाŊण का एकमाũ अिधकार िमल जाता है। 

56. Match List-I with List-II and choose the correct 
answer with the help of given codes: 

List-I                                                            List-II 

(Subject)                                                     (List) 

(a) Population Control & Family Planning 1. Centre List 

(b) Space                                                    2. State List 

(c) Public Health                                         3. Concurrent 

(d) Census                                                  4. Residuary 

Code: 

     A B C D 

(a) 3 4 2 1 

(b) 4 3 1 2 

(c) 2 1 4 3 

(d) 1 4 3 2 

56. सूची-I को सूची-II से सुमेिलत कीिजए और िदए गए कूट की 
सहायता से सही उȅर चुिनए: 

सूची-I                                                       सूची-II 

(िवषय)                                                     (सूची) 

(ए) जनसंƥा िनयंũण और पįरवार िनयोजन 1. कŐ ū सूची 

(बी) अंतįरƗ                                2. राǛ सूची 

(सी) सावŊजिनक ˢा˖                 3. समवतŎ 

(डी) जनगणना                              4. अविशʼ 

कोड : 

    ऐ बी सी डी 

(ए) 3 4 2 1 

(बी) 4 3 1 2 

(सी) 2 1 4 3 

(डी) 1 4 3 2 

56. Ans– (a) 

The correct match is: 

(Subject)                                                 (List) 

Population Control & Family Planning – Concurrent List 

Space – Residuary List 

Public Health – State List 

Census – Centre List 

सही सुमेल है: 

(िवषय)                                             (सूची) 

जनसंƥा िनयंũण एवं पįरवार िनयोजन - समवतŎ सूची 

अंतįरƗ - अविशʼ सूची 

सावŊजिनक ˢा˖ - राǛ सूची 

जनगणना - कŐ ū सूची 

57. Which of the following pairs is/are correctly 
matched? 

1. Article 40: Constitution of Village Panchayats 

2. Article 50: Isolation of Judiciary from executive 

3. Article 45: Pre-childhood care and the education of 
children below 6 years 

Code: 

(a) 1 and 2  

(b) 2 and 3 

(c) 1 and 3  

(d) All of the above 
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57. िनɻिलİखत युƵो ंमŐ से कौन-सा/से सही सुमेिलत है/हœ? 

1. अनुǅेद 40: Ťाम पंचायतो ंका गठन 

2. अनुǅेद 50: कायŊपािलका से Ɋायपािलका का अलगाव 

3. अनुǅेद 45: 6 वषŊ से कम आयु के बǄो ंकी पूवŊ-बचपन 
देखभाल और िशƗा 

कोड : 

(ए) 1 और 2 

(बी) 2 और 3 

(सी) 1 और 3 

(डी) उपरोƅ सभी 

57. Ans– (d) 

All the pairs mentioned in the question are correctly 
matched. 

Ůʲ मŐ उİʟİखत सभी जोड़े सही सुमेिलत हœ। 

58. Which of the following features of Indian 
constitution have been taken from the British 
Constitution? 

1. The rule of law. 

2. Process of making laws. 

3. Freedom to Judiciary 

4. Parliamentary System. 

Code: 

(a) 1 and 2  

(b) 2, 3 and 4 

(c) 1 and 4  

(d) 1, 2 and 4 

58. भारतीय संिवधान की िनɻिलİखत मŐ से कौन-सी िवशेषता 
िŰिटश संिवधान से ली गई है? 

1. कानून का शासन। 

2. कानून बनाने की ŮिŢया। 

3. Ɋायपािलका को ˢतंũता 

4. संसदीय Ůणाली। 

कोड : 

(ए) 1 और 2 

(बी) 2, 3 और 4 

(सी) 1 और 4 

(डी) 1, 2 और 4 

58. Ans– (d) 

The freedom of judiciary has been taken from the 
constitution of America. 

Ɋायपािलका की ˢतंũता अमेįरका के संिवधान से ली गई है। 

59. Which one of the following can authorise the 
parliament for the creation of new All India Services for 
State and Centre both? 

(a) Rajya Sabha  

(b) Lok Sabha 

(c) President  

(d) Supreme Court 

59. िनɻिलİखत मŐ से कौन राǛ और कŐ ū दोनो ंके िलए नई 
अİखल भारतीय सेवाओ ंके िनमाŊण के िलए संसद को अिधकृत 
कर सकता है? 

(ए) राǛसभा 

(बी) लोकसभा 

(सी) रा Ō̓ पित 

(डी) सुŮीम कोटŊ 

59. Ans– (a) 

Under article 312, Rajya Sabha can authorise 
Parliament for the creation of new All India Service for 
both Centre and State. 

अनुǅेद 312 के तहत, राǛसभा कŐ ū और राǛ दोनो ंके िलए 
नई अİखल भारतीय सेवा के िनमाŊण के िलए संसद को अिधकृत 
कर सकती है। 

60. Which of the following statements regarding Vice 
President is not correct? 

(a) He should have the eligibility for being elected as 
the member of Rajya Sabha. 

(b) He can be removed from the post through formal 
impeachment. 

(c) He is elected by members of Rajya Sabha and Lok 
Sabha. 
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(d) All the statements are correct. 

60. उपरा Ō̓ पित के संबंध मŐ िनɻिलİखत मŐ से कौन सा कथन सही 
नही ंहै? 

(ए) उसके पास राǛ सभा के सद˟ के ŝप मŐ चुने जाने की 
योƶता होनी चािहए। 

(बी) उसे औपचाįरक महािभयोग Ȫारा पद से हटाया जा सकता है। 

(सी) वह राǛसभा और लोकसभा के सद˟ो ंȪारा चुना जाता है। 

(डी) सभी बयान सही हœ। 

60. Ans– (b) 

To remove president from his post there is no 
requirement for formal impeachment. He can be 
removed by the passing the pledge by absolute 
majority and the consent of Lok Sabha is necessary. 

रा Ō̓ पित को उनके पद से हटाने के िलए औपचाįरक महािभयोग 
की कोई आवʴकता नही ंहै। उसे पूणŊ बŠमत से Ůितǒा पाįरत 
करके हटाया जा सकता है और लोकसभा की सहमित आवʴक 
है। 

61. In which of the following situations there is a 
provision of Joint Meeting in Parliament? 

(a) If the bill is rejected by the other house. 

(b) If the other house is disagreed with the 
amendments made in the bill. 

(c) If more than six months period has been lapsed 
after the passing of a bill by the other house. 

(d) In all of the above situations there is a provision of 
joint meeting. 

61. िनɻिलİखत मŐ से िकस İ˕ित मŐ संसद मŐ संयुƅ बैठक का 
Ůावधान है ? 

(ए) यिद िबल दूसरे सदन Ȫारा अˢीकार कर िदया गया है। 

(बी) यिद दूसरा सदन िवधेयक मŐ िकए गए संशोधनो ंसे असहमत 
है। 

(सी) यिद दूसरे सदन Ȫारा िवधेयक पाįरत करने के बाद छह 
महीने से अिधक की अविध समाɑ हो गई है। 

(डी) उपरोƅ सभी İ˕ितयो ंमŐ संयुƅ बैठक का Ůावधान है। 

61. Ans– (d) 

In all the circumstances mentioned in the question, 
there is a provision for the joint meeting. 

Ůʲ मŐ उİʟİखत सभी पįरİ˕ितयो ंमŐ संयुƅ बैठक का Ůावधान 
है। 

62. Which one of the following is not a permanent 
committee of the parliament? 

(a) Advisory Committee of Ministry of Finance 

(b) Public Accounts Committee 

(c) Estimate Committee 

(d) Committee on Public Undertakings 

62. िनɻिलİखत मŐ से कौन संसद की ˕ायी सिमित नही ंहै? 

(ए) िवȅ मंũालय की सलाहकार सिमित 

(बी) लोक लेखा सिमित 

(सी) Ůाſलन सिमित 

(डी) सावŊजिनक उपŢमो ंपर सिमित 

62. Ans– (a) 

Public Accounts Committee, Estimate Committee and 
Committee on Public Undertakings are permanent 
Financial Committees of the Parliament. 

लोक लेखा सिमित, Ůाſलन सिमित और सावŊजिनक उपŢम 
सिमित संसद की ˕ायी िवȅीय सिमितयाँ हœ। 

63. Which one of the following statements regarding 
the Ordinance issued by President is incorrect? 

(a) This is issued during the non-operation of session 
of both or either one of houses. 

(b) The impact of this is like the act made by the 
parliament. 

(c) The approval of this should be done within the six 
weeks of the start of parliament session. 

(d) None of these. 

63. रा Ō̓ पित Ȫारा जारी अȯादेश के संबंध मŐ िनɻिलİखत मŐ से 
कौन सा कथन गलत है? 

(ए) यह दोनो ंया िकसी एक सदन के सũ के संचालन के दौरान 
जारी नही ंिकया जाता है। 

(बी) इसका Ůभाव संसद Ȫारा बनाए गए अिधिनयम के समान 
होता है। 

(सी) इसका अनुमोदन संसद सũ Ůारंभ होने के छह सɑाह के 
भीतर िकया जाना चािहए। 
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(डी) इनमŐ से कोई नही।ं 

63. Ans– (d) 

All the statements given in the question are correct. 

Ůʲ मŐ िदए गए सभी कथन सही हœ। 

64. By which of the following constitutional 
amendments the elected members of Delhi and 
Puducherry legislative assemblies have been included 
in the electoral board? 

(a) 69th Constitutional Amendment 

(b) 70th Constitutional Amendment 

(c) 83rd Constitutional Amendment 

(d) 87th Constitutional Amendment 

64. िनɻिलİखत मŐ से िकस संवैधािनक संशोधन Ȫारा िदʟी और 
पुडुचेरी िवधानसभाओ ंके िनवाŊिचत सद˟ो ंको िनवाŊचक मंडल मŐ 
शािमल िकया गया है? 

(ए) 69वां संिवधान संशोधन 

(बी) 70वां संिवधान संशोधन 

(सी) 83वां संिवधान संशोधन 

(डी) 87वां संिवधान संशोधन 

64. Ans– (b) 

By 70th Constitutional Amendment the elected 
members of Delhi and Puducherry legislative 
assemblies have been included in the electoral board 
of president. 

70वŐ संिवधान संशोधन Ȫारा िदʟी और पुडुचेरी िवधान सभाओ ं
के िनवाŊिचत सद˟ो ंको रा Ō̓ पित के िनवाŊचन मंडल मŐ शािमल 
िकया गया है। 

65. At the central level, Urban Local Governance 
subject is related to which of the following ministries? 

1. Ministry of Urban Development 

2. Ministry of Finance 

3. Ministry of Defence 

4. Ministry of Home Affairs 

Code: 

(a) Only 1  

(b) 1, 3 and 4 

(c) 2, 3 and 4  

(d) All of the above 

65. केȾीय ˑर पर शहरी ˕ानीय शासन का िवषय िनɻिलİखत 
मŐ से िकस मंũालय से संबंिधत है? 

1. शहरी िवकास मंũालय 

2. िवȅ मंũालय 

3. रƗा मंũालय 

4. गृह मंũालय 

कोड : 

(ए) केवल 1 

(बी) 1, 3 और 4 

(सी) 2, 3 और 4 

(डी) उपरोƅ सभी 

65. Ans– (b) 

Ministry of Urban Development, Ministry of Defence 
(Cantonment Board) and Ministry of Home Affairs 
(Federal Territory) are related with Urban Local 
Governance. 

शहरी िवकास मंũालय, रƗा मंũालय (छावनी बोडŊ) और गृह 
मंũालय (संघीय Ɨेũ) शहरी ˕ानीय Ůशासन से संबंिधत हœ। 

66. Which of the following is/are the provisions in 
which special majority and approval of half the states 
are mandatory for amendment? 

(a) Representation of States in the Parliament 

(b) Supreme Court and High courts 

(c) President’ Election 

(d) All of the above 

66. िनɻिलİखत मŐ से कौन-सा/से Ůावधान है/हœ िजसमŐ संशोधन 
के िलए िवशेष बŠमत और आधे राǛो ंकी ˢीकृित अिनवायŊ है? 

(ए) संसद मŐ राǛो ंका Ůितिनिधȕ 

(बी) सवŖǄ Ɋायालय और उǄ Ɋायालय 

(सी) रा Ō̓ पित का चुनाव 

(डी) उपरोƅ सभी 

66. Ans– (d) 
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On the basis of the provisions described under Article 
368, the provisions of the Constitution relating to the 
federal structure can be amended by a special majority 
of the Parliament. The approval of the legislatures of 
half the states is also mandatory for these provisions. It 
is mandatory for all the provisions mentioned in the 
question. 

अनुǅेद 368 के तहत विणŊत Ůावधानो ंके आधार पर संघीय ढांचे 
से संबंिधत संिवधान के Ůावधानो ंको संसद के िवशेष बŠमत से 
संशोिधत िकया जा सकता है। इन Ůावधानो ंके िलए आधे राǛो ं
की िवधानसभाओ ंकी ˢीकृित भी अिनवायŊ है। Ůʲ मŐ उİʟİखत 
सभी Ůावधानो ंके िलए यह अिनवायŊ है। 

67. In which one of the following cases, the Parliament 
emphasized on maintaining harmony and balance 
between the Fundamental Rights and the Directive 
Principles of Policy? 

(a) Golaknath Case 

(b) Minerva Mills Case 

(c) S.R. Bommai Case 

(d) Raghunath Rao Case 

67. िनɻिलİखत मŐ से िकस मामले मŐ, संसद ने मौिलक अिधकारो ं
और नीित िनदőशक िसȠांतो ंके बीच सामंज˟ और संतुलन बनाए 
रखने पर जोर िदया? 

(ए) गोलकनाथ केस 

(बी) िमनवाŊ िमʤ केस 

(सी) एस.आर. बोʃई केस 

(डी) रघुनाथ राव केस 

67. Ans– (b) 

In the Minerva Mills case, the Parliament emphasized 
on maintaining harmony and balance between the 
Fundamental Rights and the Directive Principles of 
Policy. 

िमनवाŊ िमʤ मामले मŐ, संसद ने मौिलक अिधकारो ंऔर नीित 
िनदőशक िसȠांतो ंके बीच सामंज˟ और संतुलन बनाए रखने पर 
बल िदया। 

68. By which one of the following Constitutional 
Amendments, President's assent to the 'Constitution 
Amendment Bill' has been made mandatory? 

(a) 42nd Constitutional Amendment 

(b) 44th Constitutional Amendment 

(c) 52nd Constitutional Amendment 

(d) 61st Constitutional Amendment 

68. िनɻिलİखत मŐ से िकस संवैधािनक संशोधन Ȫारा 'संिवधान 
संशोधन िवधेयक' पर रा Ō̓ पित की ˢीकृित अिनवायŊ कर दी गई 
है? 

(ए) 42वां संिवधान संशोधन 

(बी) 44वां संिवधान संशोधन 

(सी) 52वां संिवधान संशोधन 

(डी) 61वां संिवधान संशोधन 

68. Ans– (b) 

President's assent to the 'Constitution Amendment Bill' 
has been made mandatory by the 44th Constitutional 
Amendment 1978. 

44वŐ संिवधान संशोधन 1978 Ȫारा 'संिवधान संशोधन िवधेयक' पर 
रा Ō̓ पित की ˢीकृित अिनवायŊ कर दी गई है। 

69. The boundaries of Eurasian Country Turkey does 
not touch which one of the following seas ? 

(a) Black Sea 

(b) Caspian Sea 

(c) Murmara Sea 

(d) Mediterranean Sea 

69. यूरेिशयन देश तुकŎ की सीमाएँ िनɻिलİखत मŐ से िकस समुū 
को नही ंछूती हœ? 

(ए) काला सागर 

(बी) कैİ˙यन सागर 

(सी) मुरमरा सागर 

(डी) भूमȯ सागर 

69. Ans– (b) 

The boundaries of Eurasian Country Turkey do not 
touch Caspian Sea. 

यूरेिशयन देश तुकŎ की सीमा कैİ˙यन सागर को नही ंछूती है। 

70. Consider the following statements and choose the 
correct answer with the help of the codes given below: 

Assertion (A): In general, igneous rocks are found most 
on Earth. 
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Reason (R): Two-third of the earth’s crust is made up of 
these rocks. 

Code: 

(a) Both (A) and (R) are correct, (R) is the correct 
explanation of (A) 

(b) Both (A) and (R) are correct but (R) is not the 
correct explanation of (A) 

(c) (A) is correct but (R) is incorrect 

(d) (A) is incorrect but (R) is correct. 

70. िनɻिलİखत कथनो ंपर िवचार कीिजए और नीचे िदए गए कूट 
की सहायता से सही उȅर चुिनए: 

अिभकथन (A) : सामाɊतः  आưेय चǥानŐ पृțी पर सवाŊिधक पाई 
जाती हœ। 

कारण (R) : पृțी की पपड़ी का दो-ितहाई भाग इɎी ंचǥानो ंसे 
बना है। 

कोड: 

(ए) दोनो ं(ए) और (आर) सही हœ, (आर) (ए) का सही ˙ʼीकरण है 

(बी) दोनो ं(ए) और (आर) सही हœ लेिकन (आर) (ए) का सही 
˙ʼीकरण नही ंहै 

(सी) (ए) सही है लेिकन (आर) गलत है 

(डी) (ए) गलत है लेिकन (आर) सही है। 

70. Ans– (a) 

Assertion (A) and Reason (R) both mentioned in the 
question are correct and Reason (R) is the correct 
explanation of Assertion (A). 

Ůʲ मŐ उİʟİखत अिभकथन (A) और कारण (R) दोनो ंसही हœ 
और कारण (R) अिभकथन (A) की सही ʩाƥा है। 

71. Consider the following: 

1. Gibson  

2. Great Sandy 

3. Negeva  

4. Great Victoria 

Which of the above deserts is/are situated in Australian 
Continent? 

(a) 1, 2 and 4  

(b) 2, 3 and 4 

(c) 1, 2 and 3  

(d) All of the above 

71. िनɻिलİखत पर िवचार कीिजए: 

1. िगɵन 

2. Ťेट सœडी 

3. नेगेवा 

4. Ťेट िवƃोįरया 

उपयुŊƅ मŐ से कौन-सा/से मŜ˕ल ऑ Ōː ेिलयाई महाȪीप मŐ İ˕त 
है/हœ? 

(ए) 1, 2 और 4 

(बी) 2, 3 और 4 

(सी) 1, 2 और 3 

(डी) उपरोƅ सभी 

71. Ans– (a) 

Negeva desert is situated in South Israel while Gibson, 
Great Sandy, Great Victoria, Simpson etc. deserts are 
situated in Australian continent. 

नेगेवा रेिगˑान दिƗण इज़राइल मŐ İ˕त है जबिक िगɵन, Ťेट 
सœडी, Ťेट िवƃोįरया, िसɼसन आिद रेिगˑान ऑ Ōː ेिलयाई 
महाȪीप मŐ İ˕त हœ। 

72. Which of the following plateaus is situated between 
Iravady and Salween rivers? 

(a) Plateau of Huawei 

(b) Shan Plateau 

(c) Kol Dam Plateau 

(d) Plateau of Malaya 

72. िनɻिलİखत मŐ से कौन सा पठार इरावदी और सालवीन निदयो ं
के बीच İ˕त है? 

(ए) Šआवेई का पठार 

(बी) शान पठार 

(सी) कोल बांध पठार 

(d) मलाया का पठार 

72. Ans– (b) 
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Shan Plateau is situated between Iravady and Salween 
rivers in Myanmar. It is enriched with the mineral 
resources. 

शान पठार ʄांमार मŐ इरावडी और सालवीन निदयो ंके बीच İ˕त 
है। यह खिनज संसाधनो ंसे समृȠ है। 

73. Which of the following is not an objective of World 
Trade Organisation? 

(a) Increasing social competitiveness among member 
countries. 

(b) Determining and enforcing rules for international 
trade. 

(c) Resolving trade disputes. 

(d) Accepting the concept of sustainable development. 

73. िनɻिलİखत मŐ से कौन सा िवʷ ʩापार संगठन का उȞेʴ 
नही ंहै? 

(ए) सद˟ देशो ंके बीच बढ़ती सामािजक Ůित˙धाŊ। 

(बी) अंतराŊ Ō̓ ीय ʩापार के िलए िनयमो ंका िनधाŊरण और लागू 
करना। 

(सी) ʩापार िववादो ंको हल करना। 

(डी) सतत िवकास की अवधारणा को ˢीकार करना। 

73. Ans– (a) 

World Trade Organisation was established in the year 
1995. Increasing social competitiveness among 
member countries is not its objective. 

िवʷ ʩापार संगठन की ˕ापना वषŊ 1995 मŐ Šई थी। सद˟ देशो ं
मŐ सामािजक Ůित˙धाŊ बढ़ाना इसका उȞेʴ नही ंहै। 

74. Consider the following statements regarding Indian 
National Share Market: 

1. It was established in 1992 on the recommendations 
of Pherwani Committee. 

2. Its headquarters is in Delhi. 

Which of the above statements is/are incorrect? 

(a) Only 1  

(b) Only 2 

(c) 1 and 2 both  

(d) Neither 1 nor 2 

74. भारतीय रा Ō̓ ीय शेयर बाजार के संबंध मŐ िनɻिलİखत कथनो ं
पर िवचार करŐ : 

1. इसकी ˕ापना 1992 मŐ फेरवानी सिमित की िसफाįरशो ंपर 
की गई थी। 

2. इसका मुƥालय िदʟी मŐ है। 

उपरोƅ कथनो ंमŐ से कौन-सा/से गलत है/हœ? 

(ए) केवल 1 

(बी) केवल 2 

(सी) 1 और 2 दोनो ं

(डी) न तो 1 और न ही 2 

74. Ans– (b) 

The headquarters of Indian National Share Market is in 
Mumbai. 

भारतीय रा Ō̓ ीय शेयर बाजार का मुƥालय मंुबई मŐ है। 

75. Which of the following is also called ‘Stock Market’ 
? 

(a) Primary Industrial Security Market 

(b) Secondary Industrial Security Market 

(c) Vikas Vitta Sansthan 

(d) None of these. 

75. िनɻिलİखत मŐ से िकसे 'शेयर बाजार' भी कहा जाता है ? 

(ए) Ůाथिमक औȨोिगक सुरƗा बाजार 

(बी) माȯिमक औȨोिगक सुरƗा बाजार 

(सी) िवकास िवȅ सं˕ान 

(डी) इनमŐ से कोई नही।ं 

75. Ans– (b) 

Secondary Industrial Security Market is also called as 
‘Stock Market’. 

िȪतीयक औȨोिगक सुरƗा बाजार को 'ːॉक माकő ट' भी कहा 
जाता है। 

76. Choose the correct statements regarding Monetary 
Policy: 

1. Low and stable inflation, financial stability and 
inclusive growth is its goal. 
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2. Reserve Bank of India declares monetary policy six 
times in every financial year. 

Code: 

(a) Only 1  

(b) Only 2 

(c) 1 and 2 both  

(d) Neither 1 nor 2 

76. मौिūक नीित के संबंध मŐ सही कथनो ंका चयन करŐ : 

1. िनɻ और İ˕र मुūा˛ीित, िवȅीय İ˕रता और समावेशी 
िवकास इसका लƙ है। 

2. भारतीय įरजवŊ बœक Ůȑेक िवȅीय वषŊ मŐ छह बार मौिūक नीित 
की घोषणा करता है। 

कोड : 

(ए) केवल 1 

(बी) केवल 2 

(सी) 1 और 2 दोनो ं

(डी) न तो 1 और न ही 2 

76. Ans– (c) 

Both the statements regarding Monetary Policy, 
mentioned in the question are correct. 

Ůʲ मŐ उİʟİखत मौिūक नीित के संबंध मŐ दोनो ंकथन सही हœ। 

77. Consider the following: 

1. Minimum Needs Programme 

2. Establishment of Regional Rural Banks 

3. Food for Work Programme 

All of the above are the features of which Five Year 
Plan? 

(a) Fourth Five Year Plan 

(b) Fifth Five Year Plan 

(c) Sixth Five Year Plan 

(d) Seventh Five Year Plan 

77. िनɻिलİखत पर िवचार कीिजए: 

1. Ɋूनतम आवʴकता कायŊŢम 

2. Ɨेũीय Ťामीण बœको ंकी ˕ापना 

3. काम के बदले अनाज कायŊŢम 

उपरोƅ सभी िकस पंचवषŎय योजना की िवशेषताएं हœ? 

(ए) चौथी पंचवषŎय योजना 

(बी) पांचवी ंपंचवषŎय योजना 

(सी) छठी पंचवषŎय योजना 

(डी) सातवी ंपंचवषŎय योजना 

77. Ans– (b) 

All mentioned in the question are related with Fifth 
Five Year Plan. 

Ůʲ मŐ उİʟİखत सभी पांचवी ंपंचवषŎय योजना से संबंिधत हœ। 

78. Match List-I with List-II and choose the correct 
answer with the help of given codes: 

List-I                                  List-II 

(Committee)                   (Estb. Year) 

(a) Goiporia Committee 1. 1990 

(b) Raja Chelliah Comm. 2. 1991 

(c) Janki Raman Comm. 3. 1992 

(d) Tarapore Committee 4. 1997 

Code: 

    A B C D 

(a) 1 2 3 4 

(b) 2 1 4 3 

(c) 1 3 2 4 

(d) 4 3 2 1 

78. सूची-I को सूची-II से सुमेिलत कीिजए और िदए गए कूट की 
सहायता से सही उȅर चुिनए: 

सूची-I                           सूची-II 

(सिमित)                       (˕ा. वषŊ) 

(ए) गोइपोįरया सिमित      1. 1990 

(बी) राजा चेिलया कॉम।    2. 1991 

(सी) जानकी रमन कॉम।   3. 1992 

(डी) तारापोर सिमित         4. 1997 

कोड: 
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ऐ बी सी डी 

(ए) 1 2 3 4 

(बी) 2 1 4 3 

(सी) 1 3 2 4 

(डी) 4 3 2 1 

78. Ans– (a) 

The correct match is: 

(Committee)                (Estb. Year) 

Goiporia Committee – 1990 (Banking Services Reforms) 

Raja Chelliah Comm. – 1991 (Tax Reforms) 

Janki Raman Comm. – 1992 (Securities Scam) 

Tarapore Committee – 1997 (Convertibility of Rupees 
in Capital Account) 

सही सुमेल है: 

(सिमित) (˕ा. वषŊ) 

गोइपोįरया सिमित - 1990 (बœिकंग सेवा सुधार) 

राजा चेİʟया कॉम। - 1991 (कर सुधार) 

जानकी रमन कॉम. - 1992 (Ůितभूित घोटाला) 

तारापोर सिमित - 1997 (पँूजी खाते मŐ Ŝपये की पįरवतŊनीयता) 

79. In his travelogue, Chinese traveller Hiuen Tsang has 
mentioned Ataranjikhera as: 

(a) Yen-Tu 

(b) Ye-Tu-Shan 

(c) Pi-Lo-Shan 

(d) None of these 

79. चीनी याũी ˪ेनसांग ने अपने याũा वृतांत मŐ अतरंजीखेड़ा का 
उʟेख इस Ůकार िकया है: 

(ए) येन-टू 

(बी) ये-तू-शान 

(सी) पी-लो-शान 

(डी) इनमŐ से कोई नही ं

79. Ans– (c) 

Chinese traveller Hiuen Tsang has mentioned 
Ataranjikhera as ‘Pi-Lo-Shan’. 

चीनी याũी ˪ेन Ȗांग ने अतरंजीखेड़ा का उʟेख 'पी-लो-शान' के 
ŝप मŐ िकया है। 

80.In which form plants generally absorb the Nitrogen 
from the soil through its roots? 

(a) Nitrite  

(b) Amide 

(c) Ammonia  

(d) Nitrate 

80. पौधे आमतौर पर अपनी जड़ो ंके माȯम से िमǥी से नाइटŌ ोजन 
को िकस ŝप मŐ अवशोिषत करते हœ? 

(ए) नाइटŌ ाइट 

(बी) एमाइड 

(सी) अमोिनया 

(डी) नाइटŌ ेट 

80. Ans– (d) 

Plants generally absorb the Nitrogen from the soil 
through its roots in Nitrate form.  

पौधे आमतौर पर नाइटŌ ोजन को नाइटŌ ेट के ŝप मŐ अपनी जड़ो ंके 
माȯम से िमǥी से अवशोिषत करते हœ। 

81. Blood Group was invented by? 

(a) William Harvey  

(b) Robert Koch 

(c) Karl Landsteiner  

(d) Luee Poscher 

81. ɰड Ťुप का आिवʺार िकसके Ȫारा िकया गया था? 

(ए) िविलयम हावő 

(बी) रॉबटŊ कोच 

(सी) कालŊ लœडːीनर 

(डी) लुई पॉशर 

81. Ans– (c) 

Blood Group was invented by Karl Landsteiner. 

ɰड Ťुप का आिवʺार कालŊ लœडːीनर ने िकया था। 
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82. From which one of the following places the 
evidence of cultivation of cotton in ancient times has 
been found? 

(a) Alamgirpur 

(b) Sarainahar Rai 

(c) Ataranjikhera 

(d) Kushinagar 

82. िनɻिलİखत मŐ से िकस ˕ान से Ůाचीन काल मŐ कपास की 
खेती के Ůमाण िमले हœ? 

(ए) आलमगीरपुर 

(बी) सरायनहर राय 

(सी) अतरंजीखेरा 

(डी) कुशीनगर 

82. Ans– (a) 

From Alamgirpur, the evidence of cultivation of cotton 
in ancient times has been found. 

आलमगीरपुर से Ůाचीन काल मŐ कपास की खेती के Ůमाण िमले 
हœ। 

83. Consider the following statements regarding 
‘Environment Protection Act 1986’ : 

1. This Act was passed for the implementation in the 
Stockholm Conference, 1972. 

2. This law is Voluntary. There is no provision of 
punishment in this. 

Choose the correct statements from the above? 

(a) Only 1  

(b) Only 2 

(c) 1 and 2 both  

(d) Neither 1 nor 2 

83. 'पयाŊवरण संरƗण अिधिनयम 1986' के संबंध मŐ िनɻिलİखत 
कथनो ंपर िवचार कीिजए: 

1. यह अिधिनयम ːॉकहोम सʃेलन, 1972 मŐ कायाŊɋयन के 
िलए पाįरत िकया गया था। 

2. यह कानून ˢैİǅक है। इसमŐ सजा का Ůावधान नही ंहै। 

उपरोƅ मŐ से सही कथनो ंका चयन करŐ? 

(ए) केवल 1 

(बी) केवल 2 

(सी) 1 और 2 दोनो ं

(डी) न तो 1 और न ही 2 

83. Ans– (a) 

Environmental Protection Act 1986 is a binding 
agreement and not a voluntary one. There is a 
provision of punishment in it. So, statement (2) is 
incorrect. 

पयाŊवरण संरƗण अिधिनयम 1986 एक बाȯकारी समझौता है न 
िक ˢैİǅक। इसमŐ सजा का Ůावधान है। अत: कथन (2) गलत 
है। 

84. Electric Generator Converts: 

(a) Mechanical Energy into Electrical Energy 

(b) Electrical Energy into Mechanical Energy 

(c) Chemical Energy into Mechanical Energy 

(d) Mechanical Energy into Sound Energy 

84. िवद्युत जिनũ पįरवितŊत करता है: 

(ए) यांिũक ऊजाŊ को िवद्युत ऊजाŊ मŐ 

(बी) िवद्युत ऊजाŊ को यांिũक ऊजाŊ मŐ 

(सी) रासायिनक ऊजाŊ को यांिũक ऊजाŊ मŐ 

(डी) यांिũक ऊजाŊ को Ȱिन ऊजाŊ मŐ 

84. Ans– (a) 

Electric Generator Converts Mechanical Energy into 
Electrical Energy. 

िवद्युत जिनũ यांिũक ऊजाŊ को िवद्युत ऊजाŊ मŐ पįरवितŊत करता 
है। 

85. Which of the following statements is/are incorrect? 

1. India is divided into 25 Bio-Geographic regions. 

2. The base of this division are Altitude, topography 
and rain etc. 

Code: 

(a) Only 1  

(b) Only 2 

(c) Both 1and 2  
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(d) Neither 1 nor 2 

85. िनɻिलİखत मŐ से कौन सा/से कथन गलत है/हœ? 

1. भारत 25 जैव-भौगोिलक Ɨेũो ंमŐ िवभािजत है। 

2. इस िवभाजन का आधार ऊँचाई, ˕लाकृित और वषाŊ आिद हœ। 

कोड : 

(ए) केवल 1  

(बी) केवल 2 

(सी) 1 और 2 दोनो ं 

(डी) न तो 1 और न ही 2 

85. Ans– (d) 

None of the statements mentioned in the question is 
incorrect. 

Ůʲ मŐ उİʟİखत कोई भी कथन गलत नही ंहै। 

86. ‘Probiotic’ term is used for: 

(a) Organic Food 

(b) Antacid 

(c) Antibiotic 

(d) Live Micro-organisms Food Supplement 

86. 'Ůोबायोिटक' पद का Ůयोग िकया जाता है : 

(ए) जैिवक भोजन 

(बी) एंटािसड 

(सी) एंटीबायोिटक 

(डी) जीिवत सूƘ जीव खाȨ अनुपूरक 

86. Ans– (d) 

'Probiotics' is a live microbial food supplement, which 
fulfills the needs of early death incidents, increase in 
growth rate, improvement in food preservation, egg 
quality and animal health. 

'Ůोबायोिटƛ' एक जीिवत माइŢोिबयल खाȨ पूरक है, जो समय 
से पहले मौत की घटनाओ,ं िवकास दर मŐ वृİȠ, खाȨ संरƗण मŐ 
सुधार, अंडे की गुणवȅा और पशु ˢा˖ की जŝरतो ंको पूरा 
करता है। 

87. In an ecosystem the recycle of which of the 
following does not occurs? 

(a) Organic Substances 

(b) In-organic Substances 

(c) Water 

(d) Energy 

87. एक पाįरतंũ मŐ िनɻिलİखत मŐ से िकसका पुनचŊŢण नही ंहोता 
है? 

(ए) काबŊिनक पदाथŊ 

(बी) अकाबŊिनक पदाथŊ 

(सी) पानी 

(डी) ऊजाŊ 

87. Ans– (d) 

In an ecosystem the recycle of Energy does not occurs. 
Flow of energy is unidirectional. 

एक पाįरİ˕ितकी तंũ मŐ ऊजाŊ का पुनचŊŢण नही ंहोता है। ऊजाŊ 
का Ůवाह एकिदशीय होता है। 

88. Which one of the following is related with the study 
of birds? 

(a) Ornithology  

(b) Herpetology 

(c) Ichthyology  

(d) Serology 

88. िनɻिलİखत मŐ से कौन-सा पिƗयो ंके अȯयन से संबंिधत है ? 

(ए) पƗीिवǒान 

(बी) हपőटोलॉजी 

(सी) इचथोलॉजी 

(डी) सीरोलॉजी 

88. Ans– (a) 

Herpetology – Study of Amphibians and Reptiles 

Serology – Scientific study of Blood Serum 

Ichthyology – Study of Fish 

हपőटोलॉजी - उभयचरो ंऔर सरीसृपो ंका अȯयन 

सीरोलॉजी - ɰड सीरम का वैǒािनक अȯयन 

इचथोलॉजी - मछली का अȯयन 
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89. Nilgai (Boselaphus Tragocamelus) found in India,is 
the largest species of : 

(a) Cow  

(b) Goat 

(c) Antelope  

(d) Sheep 

89. भारत मŐ पायी जाने वाली नीलगाय (बोसेलाफस टŌ ागोकैमेलस) 
सबसे बड़ी Ůजाित है : 

(ए) गाय 

(बी) बकरी 

(सी) एंटीलोप 

(डी) भेड़ 

89. Ans– (c) 

Nilgai (Boselaphus Tragocamelus) found in India,is the 
largest species of Antelopes. Like antelopes Nilgai have 
permanent horns. 

भारत मŐ पाई जाने वाली नीलगाय (बोसेलाफस टŌ ैगोकैमेलस) मृगो ं
की सबसे बड़ी Ůजाित है। मृग की तरह नीलगाय के ˕ायी सीगं 
होते हœ। 

90. Consider the following statements: 

1. The strongest part of the human body is enamel. 

2. In human body, the strongest muscles are situated in 
the jaw. 

Choose the correct statement: 

(a) Only 1  

(b) Only 2 

(c) 1 and 2 both  

(d) Neither 1 nor 2 

90. िनɻिलİखत कथनो ंपर िवचार कीिजए: 

1. मानव शरीर का सबसे मजबूत भाग इनेमल है। 

2. मानव शरीर मŐ सबसे मजबूत मांसपेिशयां जबड़े मŐ İ˕त होती 
हœ। 

सही कथन चुनŐ: 

(ए) केवल 1 

(बी) केवल 2 

(सी) 1 और 2 दोनो ं

(डी) न तो 1 और न ही 2 

90. Ans– (c) 

Both the statements mentioned in the question are 
correct. 

Ůʲ मŐ उİʟİखत दोनो ंकथन सही हœ। 

91. Consider the following statements and choose the 
correct answer with the help of the codes given below: 

Assertion (A): Apple has great importance for the heart 
patients. 

Reason (R): Apples are enriched with the Potassium, 
which regulates the heartbeat. 

Code: 

(a) Both (A) and (R) are correct, (R) is the correct 
explanation of (A) 

(b) Both (A) and (R) are correct but (R) is not the 
correct explanation of (A) 

(c) (A) is correct but (R) is incorrect 

(d) (A) is incorrect but (R) is correct. 

91. िनɻिलİखत कथनो ंपर िवचार कीिजए और नीचे िदए गए कूट 
की सहायता से सही उȅर चुिनए: 

अिभकथन (A) : şदय रोिगयो ंके िलए सेब का बŠत महȕ है। 

कारण (R) : सेब पोटेिशयम से भरपूर होते हœ, जो şदय की धड़कन 
को िनयंिũत करता है। 

कोड: 

(ए) दोनो ं(ए) और (आर) सही हœ, (आर) (ए) का सही ˙ʼीकरण है 

(बी) दोनो ं(ए) और (आर) सही हœ लेिकन (आर) (ए) का सही 
˙ʼीकरण नही ंहै 

(सी) (ए) सही है लेिकन (आर) गलत है 

(डी) (ए) गलत है लेिकन (आर) सही है। 

91. Ans– (a) 

Assertion (A) and Reason (R) both are correct but 
Reason (R) is the correct explanation of Assertion (A). 

कथन (A) और कारण (R) दोनो ंसही हœ लेिकन कारण (R), कथन 
(A) की सही ʩाƥा है। 
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92. If weight of a person at the earth is 600 Newton, 
then his weight at the moon will be: 

(a) 60 Newton  

(b) 1000 Newton 

(c) 6000 Newton  

(d) 100 Newton 

92. यिद िकसी ʩİƅ का पृțी पर भार 600 Ɋूटन है, तो चȾमा 
पर उसका भार होगा: 

(ए) 60 Ɋूटन 

(बी) 1000 Ɋूटन 

(सी) 6000 Ɋूटन 

(डी) 100 Ɋूटन 

92. Ans– (d) 

Because of weight at moon is 1/6 of the weight at 
earth, so if the weight of a man at the earth is 600 N 
then it will be 600/6 = 100 N at the moon. 

Ɛोिंक चंūमा पर वजन पृțी के वजन का 1/6 है, इसिलए यिद 
पृțी पर एक आदमी का वजन 600 N है तो यह चंūमा पर 
600/6 = 100 N होगा। 

93. Which of the following metal is present in Insulin? 

(a) Tin 

(b) Copper 

(c) Manganese  

(d) Zinc 

93. िनɻिलİखत मŐ से कौन-सी धातु इɌुिलन मŐ उपİ˕त होती है 
? 

(ए) िटन 

(बी) कॉपर 

(सी) मœगनीज 

(डी) िजंक 

93. Ans– (d) 

Zinc metal is present in Insulin. This is a type of 
hormone which is formed in Pancreas. Insulin absorbs 
Glucose and controls the Carbohydrates and Fat 
Metabolism. 

िजंक धातु इंसुिलन मŐ मौजूद होता है। यह एक Ůकार का हामŖन है 
जो अƱाशय मŐ बनता है। इंसुिलन Ƹूकोज को अवशोिषत करता 
है और काबŖहाइडŌ ेट और वसा के चयापचय को िनयंिũत करता 
है। 

94. Which of the following statements related with 
National Investment Fund is/are correct? 

1. Revenue received from the dis-investment of Public 
Enterprises is deposited in this Fund. 

2. The amount received from this is kept in 
Consolidated Fund of India. 

Code: 

(a) Only 1  

(b) Only 2 

(c) 1 and 2 both  

(d) None of these 

94. रा Ō̓ ीय िनवेश कोष से संबंिधत िनɻिलİखत मŐ से कौन सा/से 
कथन सही है/हœ? 

1. सावŊजिनक उȨमो ंके िविनवेश से Ůाɑ राजˢ को इस कोष मŐ 
जमा िकया जाता है। 

2. इससे Ůाɑ रािश भारत की संिचत िनिध मŐ रखी जाती है। 

कोड : 

(ए) केवल 1 

(बी) केवल 2 

(सी) 1 और 2 दोनो ं

(डी) इनमŐ से कोई नही ं

94. Ans– (a) 

National Investment Fund was formally started in the 
year 2007. Revenue received from the disinvestment of 
Public Enterprises is deposited in this Fund and this 
amount is kept out of the Consolidated Fund of India. 

रा Ō̓ ीय िनवेश कोष औपचाįरक ŝप से वषŊ 2007 मŐ शुŝ िकया 
गया था। सावŊजिनक उȨमो ंके िविनवेश से Ůाɑ राजˢ को इस 
कोष मŐ जमा िकया जाता है और इस रािश को भारत की संिचत 
िनिध से बाहर रखा जाता है। 

95. Consider the following: 

1. Albumin  

2. Globulin 
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3. Nucleo Protein 

Which of the aboves is/are the example of Conjugated 
Proteins? 

(a) Only 3  

(b) 1 and 2 

(c) 2 and 3  

(d) All of the above 

95. िनɻिलİखत पर िवचार कीिजए: 

1. एʛुिमन 

2. Ƹोबुिलन 

3. ɊूİƑयो Ůोटीन 

उपयुŊƅ मŐ से कौन-सा/से संयुİƵत Ůोटीन का उदाहरण है/हœ? 

(ए) केवल 3 

(बी) 1 और 2 

(सी) 2 और 3 

(डी) उपरोƅ सभी 

95. Ans– (a) 

Albumin and Globulin are simple proteins while 
Nucleoprotein is the example of Conjugated Protein. 

एʛुिमन और Ƹोɯुिलन सरल Ůोटीन हœ जबिक ɊूİƑयोŮोटीन 
संयुİƵत Ůोटीन का उदाहरण है। 

96. Which of the following items are kept out from the 
National Income? 

(a) Domestic Services 

(b) Buying & Selling of Share Certificates 

(c) Pension 

(d) All of the above. 

96. िनɻिलİखत मŐ से कौन सी वˑु रा Ō̓ ीय आय से बाहर रखी 
जाती है? 

(ए) घरेलू सेवाएं 

(बी) शेयर Ůमाणपũो ंकी खरीद और िबŢी 

(सी) पŐशन 

(डी) उपरोƅ सभी। 

96. Ans– (d) 

All the items mentioned in the question are kept out 
from the National Income. 

Ůʲ मŐ उİʟİखत सभी मदो ंको रा Ō̓ ीय आय से बाहर रखा गया है। 

97. Which of the following pairs is not correctly 
matched? 

(a) Anthic Acid – Apple 

(b) Acetic Acid – Pickel 

(c) Carbonic Acid – Soda 

(d) Ascorbic Acid – Lemon 

97. िनɻिलİखत मŐ से कौन-सा युƵ सुमेिलत नही ंहै? 

(ए) एंिथक एिसड - सेब 

(बी) एिसिटक एिसड - अचार 

(सी) काबŖिनक एिसड - सोडा 

(डी) एˋॉिबŊक एिसड – नीबूं 

97. Ans– (a) 

Malic Acid is found in Apple. 

सेब मŐ मैिलक एिसड पाया जाता है। 

98. Which one of the following pairs is not correctly 
matched? 

(a) Silicon Carbide – Artificial Diamond 

(b) Wool – A Protein 

(c) Rayon – Converted Starch 

(d) DiChloro DiFlouro Methane – Refrigerant 

98. िनɻिलİखत मŐ से कौन-सा युƵ सही सुमेिलत नही ंहै? 

(ए) िसिलकॉन काबाŊइड - कृिũम हीरा 

(बी) ऊन - एक Ůोटीन 

(सी) रेयन - पįरवितŊत ːाचŊ 

(डी) डीƑोरो डी ɢोरो मीथेन - रेिůजरŐट  

98. Ans– (c) 

Rayon is a fiber made from regenerated cellulose. 

रेयॉन पुनजŎिवत सेलुलोज से बना एक फाइबर है। 

99. All the oxygen released by the process of 
photosynthesis of plants is obtained from: 
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(a) Water 

(b) Chlorophyll 

(c) Carbon Dioxide 

(d) None of these 

99. पौधो ंमŐ Ůकाश संʶेषण की ŮिŢया Ȫारा मुƅ होने वाली 
समˑ ऑƛीजन Ůाɑ होती है: 

(पानी 

(बी) Ƒोरोिफल 

(सी) काबŊन डाइऑƛाइड 

(डी) इनमŐ से कोई नही ं

99. Ans– (a) 

All the oxygen released by the process of 
photosynthesis of plants is obtained from water. 

पौधो ंमŐ Ůकाश संʶेषण की ŮिŢया Ȫारा मुƅ होने वाली समˑ 
ऑƛीजन जल से Ůाɑ होती है। 

100.Which one of the following statements is correct? 

(a) Colour of blood is red because of snow pigment. 

(b) The main function of Haemoglobin is convection of 
Oxygen. 

(c) The cemetery of dead blood cells is called the 
spleen. 

(d) All the statements are correct. 

100.िनɻिलİखत मŐ से कौन सा कथन सही है? 

(ए) िहम वणŊक के कारण रƅ का रंग लाल होता है। 

(बी) हीमोƸोिबन का मुƥ कायŊ ऑƛीजन का संवहन है। 

(सी) मृत रƅ कोिशकाओ ंके किŰˑान को ितʟी कहा जाता है। 

(डी) सभी बयान सही हœ। 

100. Ans– (d) 

All the statements mentioned in the question are 
correct. 

Ůʲ मŐ उİʟİखत सभी कथन सही हœ। 
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4. 7 March 2023 Modern History Modern History  

5. 9 March 2023 Geography Complete Geography  

6. 11 March 2023 Polity Polity   

7. 13 March 2023 Economy Economy  

8. 15 March 2023 Science Biology, Physic, Chemistry  

9. 17 March 2023 Ancient History Ancient History & Culture  

10. 19 March 2023 Geography Complete Geography  

11. 21 March 2023 Economy Complete Economy  

12. 23 March 2023 Polity Complete Polity  

13. 25 March 2023 History Complete History  
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15. 29 March 2023 Science Complete Science  

Revision Revision Revision Revision Revision 

16. 1 April 2023 Complete Syllabus Test 
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17. 4 April 2023 Complete Syllabus Test 
- 3 
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- 4 
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Affairs + HR GK  

19. 11 April 2023 Complete Syllabus Test 
- 5 
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Affairs + HR GK  

20. 15 April 2023 Complete Syllabus Test 
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Complete Syllabus + Current 
Affairs + HR GK  
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Previous Test Series Results and Details 
Test Series 2016: Total Test 10 – 23 Question asked direct in Exam from Test Series 

Test Series 2019: Total Test 25 – 68 Question asked direct in Exam from Test Series 

Test Series 2021: Total Test 35 – 38 Question asked direct/indirect in Exam from Test Series 

Test Series 2021(Re-Exam): Total Test 35 – 19 Question asked direct in Exam from Test Series 

Test Series 2023: Total Test 25 – We are going to cover maximum questions from our Test 
Series in this exam.  

22. 22 April 2023 Complete Syllabus Test 
-8 

Complete Syllabus + Current 
Affairs + HR GK  

23. 25 April 2023 Complete Syllabus Test 
-9 

Complete Syllabus + Current 
Affairs + HR GK  

24. 29 April 2023 Complete Syllabus Test 
-10 

Complete Syllabus + Current 
Affairs + HR GK  

25. 30 April 2023 Complete Syllabus Test 
-11 

Complete Syllabus + Current 
Affairs + HR GK  
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Hope for the Best & Good Luck for the Exam. 

WhatsApp (9896160956) for Samples of Study Material, Special Notes, Question Bank, 
NCERT Gist Books and Test Series. 

 

Other Course Details for HCS 2023 

1. Study Material available in Hindi & English Medium. (Get free Samples Now) 

2. Question Bank available in bilingual medium same as exam. (Get free Samples Now) 

3. NCERT Gist Books available in bilingual medium. (Get free Samples Now) 

4. Test Series available in bilingual medium same as exam. (Get free Samples Now) 

5.Video Courses (Subject wise) 

6.Complete GK/GS Booster for HCS 2023 Bilingual Course. (Watch demo lectures on 
Application – Study Master Official) 

 

WhatsApp (9896160956) for Samples of Study Material, Special Notes, Question Bank, 
NCERT Gist Books and Test Series. 

 

Our Question Bank for prelims contains 23000 questions in bilingual medium and it covered 
74 questions in HCS Prelims 2019, 79 Questions in HCS Prelims 2021 and 77 Questions in 

HCS Prelims 2021 (Re Exam.) 

 

Thanks, and Good Luck for Your Exam. 

Team Study Master Official 

Helpline/WhatsApp: 9896160956 
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The three of the follorviirg are alike in
one does zol beiong to that group ?

15

a certain way so as to form a similar group. Which
(A) PIan[ ( Ii r Rr.q,,^t. / r\, n

,/ rumHry #; #lH Rq.' d .fk PJI q€ $q6q #'#il +r-q qT qm sn

/t-'r(, 
A) *" ,r/ (B ) d-ilfr (c) qE ic) q-fr

Cy ||||,::il:::;X'iff;:nor 
3 disti'ct numbers is 1, rrren rhe surn or trreir product raken two ar

,1, 
^ i "'o , J:n; .) u^a 1 (c) ) ^,01 (D) -l o,.o ]

ffi F *s h q"if ot +rn- r t, +r-$q-fi gui!-h-fr r* * fr dr qcqq m *12* o* 
2moa 

*"

1 ,lv (8,,

61' The 'Shoe' is related to Leather in the sgrne way as ,Rubber,
y'al plastic (B) Larex : )/ (c; ;";#\/ 'TtT'EqB H fm ein q-fi-{ e"f;m"i;fg f+ ,16, 

1ffif}tr } ,(A) mkqr fr (e) fr|ai1q i.l 
' 

"*]] 
t

(B) 1 .1
2

is related to :

(D) Steeper

(D) Ci!{ fr
62' Nupur u'alks 9 1'' East, titrns South-west and *,alks another g k'r. she again takes a turn

,rip:1fi.T.,'$;*w';'r 
and walks another 4 km In which crirecrion ;";;;";.,',* i",,,p,,

v"'(A) so^uth-East {(ry North-East (c) west 1p) Easr 'u-fi--t-wr Td 6T ilr q fu.fr Tm-ft A, fur {r"i qRlq # qg.s_O t 0Tt{ s ffi *t {r 
q€ g{, sir C!}iqd':iTi w-ff t,,:*'r,:m + mu. q-o-fi tr uu r* ** ns fr friT frqn t 0.* q.eT e ?(A) qfg"r-Tf in) rnr_Xf t'.1 ,f*E" 1n) T{63. The seq,ence of missi'g aiprrabets in the series peRr_ 

i gr RSp I RS fQ 1 seq (is :

,l:! SQQPR G) rrsQR (c) ,rqqo (D) sQpQR \.,' ,'.// ;,-.4- -- -- -\/ .'uri rQK-1- RSp jRS-- i spQ_tergqR*rnqe'.r6rergm*e-:

*a:,(^, 
SQQPR (B) rrsQR (c) ssQQR (D) sQpQR

/6*l In cjress toLirnalrent each plal'er r'r'ill play with all other players tn,ice. If totar 
'rarches

w" played in the tollrnament ar.-e ?J),then the nuilber of players who paiiiclpated_is :(A) 16 (B) 17 \"/ (c) ie
qmffi dr en qffiiFrdT fr r&6 tu-*s,qtrt q* *.{i mq * qrr dfr,irr R * sffiFT.il qgR 2t2 i-q c-fr qt, -di en qF{iF,rnT t il tft # fu*Cqi fi qLqT a ,(A) 16 \ z (R) t7 r /.1\ ,,\ $L"r,.'

I(A) -:oftEt
/. (c) 1ott

2

a

:
4

1;
(D) -l uirr l

)C



, "-_.__*_':-j,

4/ LT u >*frfyt16 .__ ?2v f, u

65. Ijtheworci,TEMPLE.is -,. \
/ -:: 

tt-:wrrLl.' rs coded as ,VHqURL,, 
then cocle for u ,yi /, I g'",ii'TXL,l 

'
qR irq ,TEMPLE, 

S} .VHQURL, 
fr NCq-q bqr.WT't, N} q.* 'S'.,ARAM, h lTq FE I(A) uLxFXFru .n) LLxF\T{u (c) ui_xGXrJV (D) uLxr_,.yHVDirections for the fotorving 4 (Four) iterns no. 66 to 6g :Re4d trre informarion given berow and ansrver the four itenrs that foro*, :once' an ant r'vho hacl come to drink at a stream. feir into the rvarb"v' the sr'vift current. sn. ,r, tl; j:.1 'tl" thc' rvater ancl rvas car.riecr ai,rtree. observed the ant,s danss 

in great danger of drr-rrvning. a aove, perched on a nearthis and 
","r 

l*r"il :T*r. 
and dropped a leaf into tt]. t;;;. The anr clirnbecr or:,h e d o v e ;:.'; Tl: il: -'ffi:ff ;i1"1'J, ia:i JT x ft il 

,*" jli lrif; I;'l"#T:i:* ffI'"l[:'** and bit hirn sharprv 
"" ,n. .,ii ,n. hunter rnissed han cl n e w s rv i rt I 1, a w av' ; , ,:.'i,illT# Jfr: il';f :;:H j.r.r" 

# T*: 
,* 

: n-l
the foarlin

RqftrtuR ;",;ff-H;'t:';:'JE't 
ftrs frrqr ,{re * rf qTieri C qfu sfr( Etrh qaqtE Gil.q el_fr an qqriail b e"r *Bg ,qm' flT q6 t-& q] \-6 q-qt o. qFft fr+ .Tri *, -fr ; Fir qi .rt{ il.,T em }.erT e_fl. * €r EE f,i

b qt s-t u e'tr y -q" * il,Y5.d; * G€t r'* b qdi fr] tsT artr qrfi rr qE
rfr +] tu Y' di& .q 

" 
Jt$qr*t1. *il * €, T*# # n(, s5 fwi + nT**

q fr ffi gq arqT F -q* # uo B ;lT *r+ *F +J*Sr{.- ft.en* d*n r +o ,hf; E-nd &
qrsr qr' q* ffi, ir fr-s. e ot, h'fr s *rt 

"i 
-i\ ; -qi ql frfr; ae Rqrr f.,rnrfr oi flw*

W-*ff 
* #ft sn+rrq +s{dr 6i #'n" t wn nqil ..i ; tur *h ilfr o x;*fr * t H#,* *' fi& i qt{ir ; ; g* Rqr, cq* dfEr %1 {qrT q-fi fr sm

66. The ant repaid the dor.,e bv :

(A) I{aving love r,vith dove

,/ tl Saving rhe iife of dove fionr animals
*-e i *-{dr il +.<m.gcr Rw ,

(;\) m-1nr u qn mrb,

(C) +rgm'b fi-{q *1 TqTr w,il{fr ft mrb

7A3/A

(B) Droping leaf in water

(D) Biting the hunrer * /

(B) rfr di,qnft t fr{r+{
(D) fli*Tft si 6T--n1-
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\/

67. The dove r.vas in danger because t ,,/
., (A) A hunter lrras about to siroot him " "' (B)

(C) It had failen off the brzu-rch

6-Wr sf,{ ii PrT +riifo- :

(A) qrfr f!ffiT-fr sn-6i.ilfr qrs"ildl en

(C) q-6'eKfr Q'fia FR'IqT ET

The dove dropped a icai'into the rvater to

(A) Drouir the ani

(C) Ir.{easure the current level

oq-oi t w* fr q-f,T Fnrqr ,

(D)

l-her:e was some

Carried a\\'ay by

lrr' o er-r irrr e i,.'i,-l.irr'

the srvift cuirerit

bB"

(B) q€ EsI ql!-d{'3TI\T-qIq EI

(D) q€ fr"q qRT alil eet f{qT',Tqf

(B) Save the ant

(D) Ferch on it

,l

(B) *& qir qalt h Rq 
-

(Di :iq-fl bflil.e-flq fr ftq

(B) - Look at the su'i11 curlent

(D) Take batir in it

(B) tq qrr d hqt b ftr{

tD) f,rq q-dm b fdq

I

us"

(A) fi& qi g{er qnq b frq
(C) tIT{i sT q1q ffi h ftq

The ant caine to the streanl

(A) Can'1 out sorne \\ atcr

(C) Drinli tiom it , r,/'
*,& q-di h q-rq edd 

'

(A) q-@l fr lTIq S'J 
q'$ oq

t. .

f'-ii: kids

:- A-c) l\'1 <,

(c) -{qq fr qrdi {it 6 ftq

70. The difi'erence betrveen the interest received fi'oil tr.vo difl'erent banks on Rs. 750 1br' 2

)'ears is Rs. 90. The difference betlveen simple interest rate chargecl by trvo bar-rlis. is :

(A) 2%

Fqi 750 rR 2

{rqr(Tl ew ETi

(A) 2oA

-._ --_-t r, -, -,-,Ai(l t, lq lcpq rlqw
@"v

(B) 4('/o (C) A"i"l u./ (Dt B9/o

EE h ftq * ;+\q.r-st-r{,r ffi fr qfq atrq 6.1 eTRl uq] qo ttt qI aii
\- c, -_-\q? qlq \jJ(( 6 :

(E) 4t"',o (c) 6% (D) 8%

Direetioirs for tiie following 5 (Fir':) items no. 71 to 75 :

Read the inf-onnation given belorl' and ansrver the fir,e items that follot' :

In each question belon, irre sjven tbur staternents lbllou'ed bv thlee conclusions numbcred
I, II and III. Yor-r have to asslllne the given statements to be true even i1'thev seern to be
del'iate fiotn commonly' ki-lo',.,'r-r f'acts. Iteacl all the conclusions anci then decide u'hicit of
the gi',,en cclnclusions logically lbl1oi,r,s Iiom the given stctelnents. disregarciing
coirrmonly knolvn {acts.

P. T. O.703/A
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mtr s tqt*) qeqiqit (tio zt * zg h ftrq frtqr ,
trA * KTtl1Bv Bft{ 

Trfr 
qaqrE qrq qifr tq qenTefr b :-nr *frq ,\ il !t v .

H$g*gt*m$tq t fr-h fqql o* r, ir eilr rn Rl ,r+ dr 3rrq.i Rl*rr.t t: Ir !tl( itl f<q. riq 6i 3n!q] FdtI+ mri] +'l r& T|qqT dF]T q-qh ] HTq1eR' sno oqt fr t-q,.,1- ;11. a-rr rE$- ji+ j
qfuT ,+r =1rr> n6- n,,c,, h^ a. ^\ - \r Q{\r Sl :nlo QiCl Ott ff9fr Rqqf dGq 0i( snh qail( Fr"fq ftfrq tu R-+ rr fr-nfr + t C"_+, nii*S'ffi'$ ,TjTilJHgEIo f, Hrqrq mn auil at qmr* ft) tu=' - A tid cq q 3TgF"FrE)fr d, qTqrq mn nql o1 qrqlE.m+ n-*r

71. Stotements :
All desks are piilars.

- All pillars are circles.
Some circles are squares.
Some squares are rectangles.

Conclusiorts :
I. Some rectangles a.e pillars.
IL Some circies are desks.vl ..
III. Some squares are desks.l--'-

(A) Only I follorvs
(C) Only IiI foilows
6er?;

qfr kn s't C-r

qf; sr* fn dl

S.d ffl qri dl

5o- a.f oTn-fr di
,A- clntq)q :

L gE qfq-d e=t dt
rr. SE gfr tw dr

m. Ss qrf Br+ i"t
(A) h-+E r ruq{oT minr t
lC t ?nq-c tIt e]lrwr +-cnr i
Slstements :

Some plates are knives.
All knives are chains.
Some chains are rvheels.
z\il r'n'heels are poles.

Conc!usions :

f--

(B)
(D)

Onlrv ii follou,s r,/
Only I and II foliou.

(B) hl-e n &W{q mi-dT t
(D) b-+o t :fr-: lt ugr+rur +Tt d

72.

rA)
(c)

I. Sorne pojes are chains. I 
^II. Sorne rvheels arc kriivEs., K

IIL Some chains areplates./
Onli I lollou.s
Only I and il foilou"

(B)
(D)

Only I and III follorv
Only Il arrd III follow

703/A
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n.t
\ \l| .r'.j

4647 :

$r tt qTR dl

H* wg elfr dt
. ;,-.

Ss,ifR qR.t t r

e"ft qR't qtq €'r

M:
L Ss q]-n GiSt tl
ir. SE-qRq Er{ di

iII. g;E'ti$t ftt dt
(A) h-+o t qgq-wT or-ar t
(c) ?n+c t efrE ti oTga-pT 6-.d d

73. Stoteynents :

Some roses are flow-e;s.

Some flou,ers are buds.- 
Al1 buds are leaves"

All leaves are plants.

Conclusions :

I. Some plants are ilowersr/
II. Some roses are buds. y_
IiI. No lea

(A) oniy i r"il";-: :re 
roses' A

(C) Oni1.I and III foliorv
TW.

Ss U-dTq Kd dl

Ss K-n efr'.['di

SU 6RE'qRqf'A,r
q,i}qfui'qlt di

tud;
r. gs qlq 

Fm tl
rr. gE SnlE 6ffidl
rrr. dr{ q-fi gnw r€itr

(A) h-q-o t.3TglrTUT mr-or t
(c) hqw I efrr ru sruqwT 6it d

(B) +-+o t,:frr tit sW{!T 6ffi a
(D) frilm II GTt{ ill ergq-ruT sra F

l

a

,4
(B)

(D)

Only I and II foltow V/.
Only II and III follorv

(B) qidd I otlr tt oTTfr{ur mrd e'

(D) ?n+m tt oftr ltt -t-* 6r} d

703/A
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74. Statements :
Some shoes are socks.

All socks are torveis
Ali tor.vels are bedsheets.

No bedsheet is blanket.
Conclusions :

I. No tor,r,el is bianket. / 
^

- II. Some shoes ure toluelr../'

(B) Onl_v I and Tllfoilop
(D) All fi-.tlou- 

"//

t r'\\->C/

(A\

(c)

I. All cell phones are tables. fII. Some chairs are colnputerf fill. No chair is cornputer. {
Only I foliou,s (B)

(D)

Only,'II ibljorvs

Only either II or III fbllorvs

III" Some shoes are bedsheets..Vr
(A) Onlf i and II follorv
(C) Only II and IIi follow
6W:

$r qs qts dr
q,fr fii nlfrt $r
qr,t n}ft+ Er"Et ti
d€ erE( sq-f,;r& )l

ftqd':
i. mlF itfrqT mq-m q_& tr
rr. $.d s tlfut tr
iir. ss {il qr* dr

(A) h-+c t .,ftr ti ,3rgvtrT mTil d
(C) h-+m n :frr rn s${w 6{+ t

75. Stntements :

All chairs are tables.

All tables are telephones.

All teiephones are cell phones.
No celi phone is computer. /'(lCtonclwsiotts: $>

(B) *-qm i rfrr ur erS{ToT mr-r t
(D) v*,ryrw 6T* -t

703iA

Only iII follo.,vs ,t"rt



6W:
R,ft gffqT'tQ dr
qfi +q Lfrqiq dr
q* Ld$iT *-*pfrq di
*tf Q-m$E -mqdr qt tr/M:
r. q* t-cqiq ir tl
il. Ssgtuqimu1.er dr

-rrr drf g-rfr 6q3 r& tr
(A) h*o t Brge-wT ert-flr t
(c) h-q-o ul erytu, q;ror t

(B) b-+o rr lr_gqruT

(D) h-,+m qi ni U qr

21

{r: \
7F.j
v,

The

(A)

rfr
(A)

number of tirnes 3 appear, number writing frorn 1243 (B) 246
looo il6 Rrqdftqt qr, ei+-: frrn_fi * #'#tJ,243 G) 246 (c) 2s7

mror t
IIr aruH{ui mrri t

to i000, is :

(D) 300\.r

(D) 3oo

P 'T' /\a . 1, \-r.

Sirections for the fo'orving 4 (irour) items no.77to g0 :
Read rhe info',ation given belo*,and ansrver the four items that foror.v :

ilil:: n :lT :: ::: j: #'T[Ti'; j,i ]i;j ;H: :'::: rf r,' h as 
f, 1r 

e rbre,. b e

I

::i,: Tff i,1;g;#iH[S"xfixi : ::,':; ;* l:l
"'o i,il'iliil'tl*i::::", ji*S:ili
;l*;:ffi,TJffi :,:T:J*r;i;;';ffiffi ,Tft:'jffi n:J;ffi :ff ;
:roduce and rransporr tbo6 .,, ^^,,,j::::'1 

the speed of sound' oil porve'ed machinesproduce and transport food oir ^^., 
t'v spsc(l or sound' oil por.veled machines

age of oi bu, "'i:*'T*frT:il:'T.'Iffi:TJH: ;#*,J**l*jrerlains constanr until its sone, there is enough to last 42 1,e31r. Oil rvells wili prociuce
fffi,'i:il,:'.:rui':i'i;:JT,1,T1T** iinpossir,re to keep producrion consranr
Naturally' as the;' become scarce, th"y b..orrr. .ro.nrr''t1?u}:rt:"'.'ffr||ff.jill;crisis' If we are to sui'vit'e on this planet, *'.' huu. to mar<e a transition to sustainabre"T*t ro",res' Trre transition may be willy-nilry or pranned _ the choice is ours.

703/A

r"
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The drarvins era of lirniteci aud expensive ener-ey ,,viu be ver1,. difficult for evc^,one or
earth but r'r'ill be even more diificult if it is not a'ticipatecr. It is of ut'rost i'rportarce,ra

s---^ j,ii:il#:::::i?"T:[].#'*:jJ;;;"' eners]'crisis and act rast ro ensure,ra
ffifu 4 (ER) qqqisfr $o nfr so; h Firq Frter ,
fr.+ * rf ffi C qfu, ,:ijr c-qh qaqtT eii+ qril qR qeqTqfr t rrrr *frq ,

wgfr-c $.q-aT xfr nro fr 6-qf * frt *.-tr t F{rfu y{ vw +n ETRq sti bsTq# str ..ffirr# *nrqq no^ 
_,s-qT t .r[ffi t-,. -i* .ir'q,trfro t{i h # # t, 

".fr il1ffiq, Edq, q++sr {i-{ aifu 3iR fio {*to r1; # t .TEffi 
"# B,'drq,iT, 

"f\d* ,t *o, er uqc_T glqaqr.fdqrft scrc{ h fhq Einr t **,r* to * *d, Err6 w fr mqq b ftq etci tr fio {qq 6T
wqFT m'rq 3i-{ +'o q.T+ *fr q ei-a' tr *o * fr,F qfrq +? qrq_ ! _*m } errunq siqf betil a'r r.o wrrq q* qqfr+, * o** d, +r nft-rdr t .1. .qE f'* a. ; frlt* nv fr 09561 qo6,-tr ilm fr sq*-r' rqri qErq ** *n *r ,rfr; ;;, drl d 

:T1ug,+ b am_qTT fr qT+ tr a_o twEr6 qqfrt qrq rilfr frT .""tS d.i- *fr ** * dr am-t ; go qiffi n_fqrfi dr
Fq qq *, €q d-d-h U,r fr {6 € d frb'q ro t-c u-o i* qT w Bt w_c"q cffi *.wgun, qR i_ir.
mr trfr,.*fun ieni t wq ro ro se o_s * u*, ot a*t * qqfR w B-q) +z qqf n-6 +o rm-or ttfrm b $( ftfr-tfr sT-fr diil qTfr t"sq6l w*q sfi sq' e} vE'rT, fu-s +rrrr ; .** R*rr .* qifl.'rr+srq d elfur.u-rfi rc fr' *fft" iT{ .iiT d* **. ut qfr ,3rt{ r:: qqf n-+ :frr .-o q*.,TiFqT'rTft-6 Gq fr, *fr-+fr +.+qqt" ETd qrt t a ffi;; d ffi #; fr qo sori croe i_e.ewm it qR 6+ Ffi nE.qr fi-qT t, il €+ r".fit'; sfr *.ik -fr-ffi- ei.fi +{Ti qs qfrqii,qqq-ftfr er qi.frwrq-q ei ne*r"t - qrq eqnr tt *frd tsir r:--brft -"r * *+ q*r gr g*- w r*6b frq ca-o ffi ErrT frbq.l. * rqT frftq EilT qR w*r Frgvm # e"-r wdr tr qE 3,_R.r

ffiWff*ffi"i-tBqq wEi r6d c -r*, * ro gfrRe-n 6ri b ftrq e 6-qT Eh
7V. The theme of the passage is :

V (A) Changing lives

7\ (9) Energy resoufces iqR*s mr,Qq_q t ,

(r\) e-{Rn- q}-fi
(C) s-qi b €td

78. Biomass is an energy source usecl in :

/ (A)^ Agri.*,t:_ 
. (B)- rnduslryv if{ {tm qfi F,Tl dm i qi r+r-#or e ,

(B) Loorning energ).crisis ,,/'(D) Power rn tociay,s lvorlcl

/Rr

(D)

wqf iJ-fiE riBTqT

en-q al gfi-w +t rrfu.

trJomes , u/ (D) Clfices

.-:* Iqr I tD) Ewt q
(A) FR T

(c)

(c)

703/1\
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/ (C) Wind and solar powei

sTfrq b Rq oqi a}f, e' ,

(A) qTfW.+ sfu qdm qrk
(C) qfi *{ qtE qifu e

80. The survival of mankind n,ill depend on :

(A) Maximum use of available energy resources

(B) Transition to sustaina,ble energy resources

(C) Regulatioir placed on energy consumers

(D) I(eeping the level of ,-.nerg;, production constant

qnq ffi +1 s-crfrR-m frs{r n.ft

- (A) sqfr-.rT s-qf qtfi h erlq,fr-dq sqirq q-{ /
(B) qTwftq s-qf qtdi fr1 Birr qffi q-{ e /
(C) wqf wqt*rsr] qr erf\kqq m-rt T{

(D) s-qi sfllqq 6T Tf,-{ Rn rqt qq

T$. The energy sources for the future are :

(A) Nuclear and hydro po\,ver

Fren cqi fl6t qTfr ri=fic+n +u dt -*4

(B) Coal and natulal gas

(D) Oil and bion-rass

(B) dn-dl sm n-frc+ qs

(D) An 3Ttr d-q iqr

4",

Directions for the following 2 (fivo) items no. 81 ancl 82 :

Read the information gir,'en belon and answer the trvo items that follorv :

There are 120 musicians in a club and 5o/o of them can play all the thlee instrurnents .".i2.

guitar, violin and flute. It so happening that the number of musicians u4ro can plai' onl,v
tlvo of above mentioned instruments is 30. The 40.musicians can plav suitar alone.

ffirfuH 2 (fr) stqiqft ({io sr ef,n szy b ftrg frtqr :

frA * ,T{ qTq-frrft fr1 q@q Bfu €Rh qeqi--( ,3ili qTfr * qqqiqii b cnr *frq :

qfr"acq t tzo q.i1-d-6n d q} cqt fr 59lo (Sl ffi q-* qrf,i FrgR, ilqRm eii-{ eidi qil qq.'$6d $r
qo q?ifqqar t fu w q.Mi fi €rqT 30 t q] sq-{ R-}'r}

e The musicians who can either play vioiin alone ol flute alone are :

(A) 40 (B) 38 (c) 447---==:a--

* 6ffii, dl qr ai b-{f, flqRq qr b-q-s dgfl-qqr Rfifr t, +t iiqr t ,

(A) 40 (B) 38

rW-- 6'.-lnn,-'@'

(D) 46

(D) 46

783tA

G--L1 $

(c) 44



'v784' ABCD is a square of sicle 2^li 
"rn and M. N are 

'ricl points of sicles A]l anci AD'/ I respectitell'. Then the nerirlr"r.r tin ^._: ^;,'

JA
/'t

p2.7 'the rnusicians u,ho car/ / irll::urans \\'no caTray onrlrcne or arl three instrl:ments, are :u. (A) 106 g_:o ( (c) 88 ____"...,"(D) 
86w sffi, qi h_{f, qm o' H* #fr Ti* 6} q_qT m6t d, +l rrqr t ,(A-) 106 (B) so (c) 88 (D) 8683' In a factory capacit'of a solution tank Ais3n%of thc capacitl,of'the another tank B. I.l

/ ;#f;:fri.?ll}: is 14000 goilon, and at on. pu,.i.,iru. -o*"nt it is 80?o ru, and

fr;aA 6i 
4200 Gauons 

vY manv inore gailons or'"j;ff?,;i::,:)t'":P''* *n* o ,
.t^r.{ /) (L ) l8oo Gallons

:-(2 mm*W*f,1-'* wt ab' &u*T'ffti *" *"; d Hq'r qmnT 14000
, ,V *-fl b ffi qrqT iw d ?f 

q6 80% *rft gen B'qk t6 B 40% Tir gw"tr'* a'+L- e d ert*n
,1 ,/ ,/ nl' ./ t yft I A\ +:OO :jn-q

1-F)k ,rt 2s6p fsq ql 32oo ii;m

Y jr/ (D) 6399 in,q

' 
n / i;];l;i' E,'!)e P/nete' iin''"fo;;*.'#;;$J:Iffiil]i::,f:'o o "

f i;i ii1 " O, (Ir) 2Q+ 1i) 
a1r \\rr 

;)p;W<-r
i ABCDq'eTr^E*sr-,m-.e\^\ -, (D) 2(1 +z^..85 i'Wai4AB"cq TqT 2-lt frfr or qm q=i t .ir y I ni,ffiil'_i an b ** ffiffiT T"-yXYm BDNM*T qftd rm+j rl" "'(A) 2Q+Ji1 "\'1 \\"' "ro

(c) z(t + ^[i1 
(B) 2(2+ ^lj1 e*[' ,''
(D) ?-t1!r 6' ,o'' {{i*? a\(r-:11r) (t\bry o s ttl85. The least multiple of 7. r,vhich ieaves a remainder

, is: 
-- 

"ou"t a rematndet of4 'hen divicleci'br- 6, 9. 15 ancl 1iJ.y'' ^" 
--t 

€4 -rwu U,v u: Y. lf and I,/ 1.-,- /4 
-=---V (A) E!!--\h (B t ho, ) | .^ .

risi z -, ua d'siq w, ; # h r, :k :?r,{;{*.il Jf* g'
(A) .344 G) 704 (c) 354 rf)) QA- / - /-'---,/7Directions ior the foHowing 5 (Five) items no. g6 to g0 : ( l,,l . rReadi1reirrforrnationgir.enb.lowandansr,veltIrefir,eitemsthattbl1ou':

li' iff iillri;,];?l]i 
E are connectecr b, o,no..n, ,riocic's orrranspor.r as lbrorvs :

(ii) C and D by,bns anci boat
(iii) il and E by air only
(iv) A ancl C by boar only
(v) C and E by rail and bus

703/,4
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ffirfuH s (qfq) sqqiett 1do 86 fr qo) h frq fttqr :

fra * rTi wi-*rft drqf$q 0*'t sqb qqq-( siTi qTfr *q sqqiqiih srrE f,frq 
'

fq qre-r A, B, c, D efrE E qRq-a-q h nnr n-frdi sRT frq mR fr srqfl ii S gq d

(i) a oTtl B mq eftq tm anr

(ii) c sir'q D e-fl eirr ilq &T{T

(iii) B err< r -o-+e 
rqqTq siil

(iv) A e',k C hqo;m gru

(") C oi-{ el-o oft{ e"s af-{i
I o'\rl.,r

S6. V/ithout changing tlode of transporl, which node of transport ivould help one to reach C
startingfiornB ? /,sLarurrg lrurrl rf : . /,(A) Air (B) Bus (C) Rail (D) Boat r ,,./
qR€{ h f,frb d q-{fr Rqf, qR{c{ m +tq-qT f,-0-fi Rtft +1 e fr ryq oih c f,fr' q{4t q q--q-{

ftt{T ?

,._,.:.A) 
Rqrn (B) Eq (c) i-d (D) qTq

t'!l

{ 8Z ,,,,' if a person visits each of fir'e cities starling from A, which city he visited tr.r'ice ?\.,/r'\-" (A) D (B) c \/ (c) B (D) A
qR q:6 efu. a fr qRtq fr& tie*' ar€T ftt sr{T q-{f,T t, fr rtt{-t arc-( ftt sR-i * qR qt:T frt ?

(A) D (B) .l (C) B (D) A
,?=t
i 88. Betu'een rvhrch fivo cities, naxinium travel options are less than four ?
\,r'v-
1"I (A) (8. D) (B) (A, c) (c) (8, c) \/ (D) (A, B) i:r 

drq-,fr * qrc-{T h frq srf\m.-dq qTil R-qrfl ER t 6q t ?

(A) (8, D) (B) ;'A, C) (c) (8, c) (D) (A, B)

{i{)

Eg" Which pair of cities are dire;tly connected ?

/ (A) (4, E) (B) (A, D) (C)
v' qrc-{i 6T qo +tq-Hl Tq e fio qru{,:rms rifr*r S
ai' (A) (ri, E) (B) {A, D) (C)

,s-ir
i gO. I The cities rvhere one can't travel by air. are :

U.,'
'i (A) A, B (B) A, D, E (C)

(8, D)

(8, D)

(D) (8, E) " ur'

(D) (8, E)

Q) !,-srD--

(D) A, C, D \r/
I t qrci +t{-fr t wd'dr€ fr qR; hqrq sRT ;r€i qT TmnT

(A) A, B (B) A, D, E

703/A

A,B,E

?

A,B,E(c)

P, T. O.
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Directions for the folXowing 5 (Five) items no. 91 to 95 :
Read the inforrnatio'siven bero'uv and answer the fir.e iteins that fororv :In another tragic Indian Air Force accident. a trrtirag" 2000 trainer aircra{t crasheci i

0l/0212019 after taking off from Hindr,rstan Aerr:,naittics Linritecl

iilffi .,;;Jiil,ff .*JH, a ircraft *,u, uor.oi ed b,, rrin clustan ililf"il j ffii::
gear rhe accicr.,,t uo,r, io;;!*:f ;f #ffi:Tilf".'.:,T,r::]:'" ,.,itr,lunain
Bengaluru mishap col-trles auyr'ort.f;r;;;'o*nrr:r 

crasrrecr ,;;,rr;:ffi:l;::l,i:this is indicative of a deeper proliiern ,* 
"r..ilo in'entor)- unc ,rrornrenance. It,s *,el

knot'n that iAF has a 
'*t'J-'hortage of aircrafir. It's ao."n ,; ,, fi_qhter squadrons.t,c1 ri'hich in another ferv years ruitt b. *tn,.J n.ri cr to 26.This hasff 1..11.._od.r-ofci aircraft fit<e ttre N{irase )oo(j .i..,,^

. affiffi *: ;j.:j,T,,:;'il,;l;r* ot;a o i;ffi #,i;
T'L^ cr ,.

ff;'J-T::H:::l'l:iil:';:;::::t",':::: i, 
"11.-ines our derence prepareclnesslXl.ilT:ilJ1ffi ;T:*yjffi :::1T,;fi H:T:ffi .l'.ffi '":::::::iJ::

::H:,,::ili.i ff:,:y, *l-,^#i,.,*loT:HT ;,:1;i,il3,,:::: ":,,:.
induction phase.;:*il#:::o ',i"s 

project, ;;* ;:T::j:_'ff"Tr:J:T:::::i :: :1: ,_.'rn,u{rcaccs to r.cach thc

gs:rend thcii

li::::. i: ^r.ti 
e 

^rn 

i I itar),_ i n dus tri ai ;;;; ;" Tn i ro .

ffin&-d 5 (fr) rerirfi {do sl t q51 h ftq frqrr :
*e * € ffi c qfu(' 3t{ s*b qau.,* srT} qrfr qiq qen'qiib erir flftg ,q6 *ti rfrt E'gtrn'* t'T *"* q q'6 kT:ooo rfeTa-o Fr,rr /02/201e c arg. il1t-€Frm ffi*+cfrtu d* s u d;#'w-""- E] rqT, n* * mr e+q,Es 6T +c fr€i q-e tur es.-"r @ N; *;,"#, ry",.il;i *'_lq qeT_{ sr.* b uo *sf-{rq* ty, q} tu * o _ft;,;; il *q,no *-.; d _,..Rh ryr' tr d S_*

srq'm bqfr +'gd--rTn* * st b DqTqi #;-ggiy .i. . . tfi tr trg..Edz-{ rdr
n?:t t pt*rr + rg0rr( e.frI"" b ffi ET+ i5 gu- H:_,Tr gq.tl t nq D++_61 ,=e_qET'3ilt rc"-trsr{ } sT'{ q" i* norqr"+t.ir csd *q ti ; ffi't fu srcfiq {q-€-n b qie.'*fr 

# ETft mfr ti ** * yt r:q "* 
** {, * ug".t dtr u -it-st-eir 

6q 26
n-s * qT+ir 

sR-$ r* oRRofr ss* e] {t, #i-bqF 
T*^ryry zooo *} eq-6' bqrqr-d

fi{q-erqfv t EET} b fr\''*t dori fr,udE, 
1e-o ou** ,ffi fu-d6* *} * ier sc'rr'+lrr .s-re* 

F ftq d"+'#fr.* 
"frqr ld,,h t+ *, # #[ u_*n, qe e,.,ft reil ffi4i sd q-qT tift t eir ttfr ;-t *r e-dt-+ ,* a-n i.l +"uu# *T, S wn fr fr qc

0Tq-ft=ftl 6-ri n frFr6 ,_iqiFm *= *r+ +f .iiqaq; iS* ftq frfr *, *i e*T ,3ifls16 p.*1='1 6T
;rsw B't ren h ffi *" tq-d (p!u.) or Donor q- r- # #-* t +fr w*"i b ftq
drFd ftt.az qrffiTqd i-'RT *aE= !"8##;;.#1-gri; u= i-#t,3Tfyq, nr Hqq fr tu-qrr783/A
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5i. The name of aircraft craslied in Bengaluru on 0110212019 is : ..,,/t
(A) Jaguar 2019 (B) Airbus 320 (c) Mirage 2000 -r"(D) Tejas 2019
.I.]-gF r+ 01t02i20t I aii gir+nm ETi ilm fu6 ry qq t ,

(A) q-g0TR 201e (B) qqr{fl 320 (c) fr{Iq zooo (D) t-qn zotq
rf*\
f92.1 The approach used to increase the lifespan of aircraft is :\ -//

.r iv' (A) Total overhauling (B) Jugaad

(C) Upgrading internal technology (D) Changing all defective parts

_.1 frur{ fr1tr{q-omf\ C {dit h frq qq},T ft1€ qqfr t , /,
/\ (A) Xft mo fr fr sfr{ q-{rn friqT 1e) gn-s ,,/

(C) elrfltr* il+fio dt oil-hs 6rlT + (D) qift flqglf qFii ftl E(flqr

93' To setup, American-str,le rnilitary-industrial complex in India. which sector's
participations are suggeste C ?

, / {A) Government sector
\/ (C) Autonomous bodies

(B) Private sector t

(D) Semi governrrent sector

(B) Fffi kd
(D) BTef $ffiT.ft {H

(D) 30

sTfrd ri orq-fidi aq 81 frfr6 +ftnFrqt €-g-d TerR-d 6{i q frq {rd dr Mf m gwm R q} A ?

(A) qT6rft *-{
(c) €rq.f F-6rq

"7{12/ htvJtfr

- ::--t:: :-. ---]rj=-::f,T::jFTr:rrygipi:FiF;t: r.- :. :-.. ;:*;:

At present the number of fighter squadrons IAF has :

(A) 2s (B) 26 (c) 28

(c) 28

Efflq fi, IAF h ltq Frs,rf F-qtgfr C rfqr t ,

(A) 2s (B) 26 +

The aircraft crashed in Bengaluru was upgraded by :

(A) Central Govt. rnilitary workshop in Delhi

(B) Bengaluru Aeronautics Lirnited

(C) Hindustan Aerouauti;s Lirnitecl r * /\-/
(D) Pune rniiitarl'-industlial workshop

ilrgo t gfdrmrt gq frqrq "i mnt crqls fuqT qT ?

(A) ffiq qrcrft irF+o q*a,H, m
(B) ;ilTgo ffiE{ frnrce

(C) R-€KR EffiEq frRts s

(D) gdt frR-6 sfrqlFi-o E&qrq

(D) 30 -a"
95.

v'

P. T. O.
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96. The da1'of the rveek. on birthofHar-vana state i.e. on 0i.l
/' (A) Fridal' (B) Saturday (C) Viondal

f 6R4.Tr r"q fr gntfu q{, qif{ 01.11 .1966 q.{, qrfrtE mi R*q t ,

i. i 966. is :

(D) Tuesdav " V/

-_^(A) 
gat4( (B) afiilT (c) fiqqT{ (D) F,RHR

@/ Asutn of'Rs. 2.100 has to be irsed to give seven cash prizes to the students. If each prize
is Rs. 20 less ihan its pieceding prize. then number of tirn':s the maxirnurn prize arnount is
rnore than ininimurn plize ainounts, is :

(A) 1: (B) 1.3 (c) 1.5 / 0))2
B,sTt'fqi d st.r-.rfi( g{mn t+ t Rq 2,i00 Fq} fr1 q'ffft q"irr qi wt'f tt qF qti-6 gnen. en}
+ q€-fr +rfr Sron fr zo nqt 6q t, iii efU-qt-dq Sror qfsl q-+or giisn {Tf}r fr ffi d** e i
(A.) i .2 (B) 1 3 (c) 1,5 (D) 2

88' if the inteiior arrgies o1' fir,e-sided poil'gon are in the rario LA,1_- 1_, > then sun-r (i'
//-;3,,,,7/Cegtces) of rneasures of srnallest and lar-gest angles. is :

,/<r) .*:,r^-!a) .zie (B) 252 (c) i08 (D) 324
,*':/Y: qit:tITt{1frtS5"h:in,+}q r :2 :3 : zl : s hetq-Ie.qt, di$gnq:irrgoqqi.riibqllT

g2tffit,,tt 2t;'U>' rBr 2s2 rc) r'L (D) j2+ {,6rD'*
I M V \ / \-; -"-n \u./ J'a {:y- fy:
KPg) A sutn of Rs' i0 is lend to be returnecl in 11 monthlf in:,talments of Rs. 1 each. inrcr.csrzTJ\l
',. ,. l,$. Lreing sinrple . I'he ratc of interest charged. is : )j-k9uA ^r e / . ,.'wffi .i{At e-ra {B) 10% (c) 21:yo'J (D) 22% i t,! 

,il -("
7 ]1 ""-'/ \v) "' j1'u \ui LL/o l-l Y'loi

I ^-

i Fq) ]0 ft1 \'o5Err,-F*ETqf{tTqMs{, qd6Fq-} t +1 t1 qlRr6fuqn1 {qTftflfrGhft1,"s,:n*
'//, llz rnqt io 4

' .T,Tfr tt orrf € aqrq ft1Er B 
'

ln(A) e-% (B) \a% (c) ztl_x o) 22%11 \-' tr^I

There are 55 students in the class and Rs. 39 are to be clistributecl among thern so that each
boi' gets B0 Paise anci eiLch girl gets 30 Paise. The ratio cf purnber of boys to nurnber o{-
girls in the ciasT,is_:

(A) 3:2V G) 4:1 (C) 2:3 (D) r:4
qfr' ETeiT q e S frqTS t 3iT 39 Fq-,jf +1 sqh fiq ilT s-dT{ ffi,T fuqr qnj t fr !-c}6 TrF6 ft1 80
tfr ffi t 0{k q-e6 Ffs--Ci +1 :o tt ffi €t oeil"fr irn61fi wel6rorspdifrt {i-6qj fr q-aq-6 } ;

703tA

(A) 3:2 (B) 4:1 (C) 2 :3 (D) I :4
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